Physics : Section-A (Q. No. 001 o 035) |

1 The work functions of Caesium (Cs), Potassium
(K) and Sodium (Na) are 2.14¢eV, 2.30eV and
2.75 eV respectively. If incident electromagnetic

radiation has an incident energy of 2.20eV,
which of these photosensitive surfaces may emit

photcelectrons?
(1) Na only (2) Cs only
(3¥ Both Na and K (4) K only
2 The net magnetic flux through any closed surface
is :
(1) Negative (2) Zero
(3) Positive (4) Infinity
how any
f the alvanometer G does not S :
3 ileﬂeclign in the circuit shown, the value of R is
given by : -

40082

2V
10V
_ Q (2) 2000
) 400
l. ) 500 }43 10092
ected to the secondary

60 W lamp is conn :

J.:flf ;‘i’ep down transformer, whose primary is
connected t0 ac¢ mains of 220 V. Assuming the
be ideal, what is the current 1n

transformer to
o the primary winding?
* A “) 037A @ 027A

(3) 27A (4) 3.7A

/5 A full wave rectifier circuit consists of two p-n

.% ' junction diodes, a centre-tapped transformer,
e capacitor and a load resistance. Which of these

components remove the ac ripple from the
rectified output?

(1) Load resistance

(2) A centre-tapped transformer

(3r p-n junction diodes

(4) Capacitor

6 In a plane electromagnetic wave travelling in
free space, the electric field component oscillates

sinusoidally at a frequency of 2.0x10'°Hz and

amplitude 48vm™. Then the amplitude of

oscillating magnetic field is : (Spegd of light i
free space = 3 x 108 ms~1) L it

() 16x1076T (2 1.6x107°T
(3) 16x1078T  (4) 16x107'T
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e is placed at an angle of 30°

; 5 C—-l
1d of intensity 2x10°NC -
ue equal to Nm. Calc_:ulate
the dipole, if the

9  An electric dipol

with an electric fie

]t experiences a torq
the magnitude of charge on

dipole length is 2 cm.
(1) 2mC @ 8mC

(37 6mC 4) 4mC

Let a wire be suspended from the ceiling (rigid
support) and stretched by a weight W attached
at its free end. The longitudinal stress at any
point of cross-sectional area 4 of the wire is :

() Zeeo 4 204
i @ W)

i[E lgdregen spectrum, the shortest wavelength
" e Bal‘mer series is 3. The shortest
“;velength in the Bracket series is :
162 '
(2 2a
4
Gf 4 @) 92

Th

‘emep;j?nffzﬁlre of a gas is —50° C. To what
s speed js Eﬁc%as should be heated so that the
0B e s

e @ 307k

A fo
SUddeT]ba“ Player is ‘moving southward and
avojd Y turns eastward with the same speed to
pla an opponent. The force that acts on the

Yer while turning is :

) along south-west »

aIOng eastward «
) along northward
) along north-east
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14  The ratio of frequencies of fundame
harmom.':: produced by an open pipe to that
closed pipe having the same length is :

1) 3:1 (2 1:2 N
_ Sr 2:1 4) 1:3 ~]
15
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- =
1;9 If EﬁE .dS =0 over a surface, then :
5
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19

Given below are two statements: i
Sta'tement_I : Photovoltaic devices can conv,

optical radiation into electricity. gi‘
Statement I1 : Z_ener diode is designed to ope atel
under reverse bias in breakdown region.

In

most appropriate answer from the options given
below :

(1) Statement I is incorrect but Statement I

(2)
3)
)

(1)
)

(3) the magnitudé of e

“)

Resistance of a carbon resistor determined fré
colour codes is (22000t5%) Q. The colour"@l‘
third band must be :

(1)
A3)

The magnetic energy stored in an inductortof
inductance 4 uH carrying a current of 2 A is :

(1)
3)

The a:ngular acceleration of a body, moving al
the circumference of a circle, is :

(1) along the axis of rotation

{2) along the radius, away from centre
(3) along the radius towards the centre
(4) along the tangent to its position

[E3

o
OGN

. Lt
the light of the above statements, choose thet

is correct.

Both Statement I and Statement II @é
correct. '3“‘1’:““’

Both Statement I and Statement II Gfe
incorrect. e
Statement I is correct but Statement I 43
incorrect. -

e
the electric field inside the surface G5

necessarily uniform. H
the number of flux lines entering the surfacg
must be equal to the number of flux lings;

leaving it. 3
lectric field on t&lé:

surface is constant. ' o
all the charges must necessarily be inside

the surface. e e

&

W)

(2) Red
(4) Orange

Yellow
Green

@ 4ul
4) 8mlJ

8l
4 mJ

14

15

16

17

18

19

G6_Hindi+English ]

GH TETE % U G UIEd a91 % 9IF9 & 9l

qw gt @ gt @ orgurE ¥
(1) 3z 2) 1:2
3) 2:1 ) 1:3

R gu & aify TR o fvs & e
[ Ea 10|

(1) N 19 F gy

(2) B % omfEy, X ¥ AR B AN

(3) P F amiky, &= & T

(@) zEa fafa & wef=r & sk

I D e @ W™ E

T | : B gl T e @ e
g ¥ gfafaa & ghal & |

o 11 : ST STiE S & # uyaraiine 9hd %
st & HTr % g s T E

IudEd U % ged #, 9 R W T
waifs Sagw I IR |

(1) @uw I |8 T & aog w9 IO &8 %)
(2) o= w19 = I &8 2

(3) 2 Fw I 9 FoA 11 @& & ¥

@) = 1 a8 ¥ aog w1 a4 ¥

uﬁﬁq&s#ﬁmcj@-d}w ¥,

(1) U8 % oY THEHH Agd & D ¥

) qﬁﬁﬁﬂﬁ%ﬂﬁﬁqﬁw%ﬁmﬁﬁmﬁ
Bred areh e Yaret @ we % et o
qiEg|

3) Wﬂ&gﬂ%ﬂﬂﬂﬂﬁﬂﬁﬁﬂﬂ%l

%) e oTaE, U6 % T B OTEeS ¢

aﬁaﬁsﬁwqumméﬂqﬁﬂamm

(22000:5%)9%1%%’(&'3651@@”?"&@‘
(1) e (2)

@) wT o,

A mﬁ;ﬁﬁﬁzAmﬂWﬂaﬁ%mﬁ
e gedE I §

(1) 8pl @ 4w

(3) 4ml (@) 8ml



H
3 e (1) 10 ™5
is | 20 gotvee L 100 ¥ W
; - dquctance L[ 13 (09
. JCR circuit, the UL e R (©) 1WF T
20 In a ls.:n::pacitﬂnce Cis 1 pF and rBSIStZI;:nce 's"@l & ﬂqﬁ‘ - | 15 9 radfs
) i €5 i
i150 Tooﬂ- The frequency at which T (1) 1.59 kHz ((4)) 159 rad/s
cccurs B85, (@) 153 TeqR . (@) 15918 o &
m L. 1.59 rad/s 0 Qe Td 11|
15.9 kHz : g ¥ G Bl
fI-j'h)ez‘ magnitude and direction of the current I | G prefatEd .qﬁq - "
21 the following circuit is == oV sV 1Q
e 3¢ oV 5V 10 B g # 2Q - B
A
E e 3
H
b 70 ‘ ’ o
fro B to A through E E-@(WBQA‘&?‘W
8; (I):ggﬁ-omstoAthroughE o M :)'g_i’E@rﬁmB@‘Aﬁ
3} 05 A from 4 to B through B o O A Ex i A¥ BH
5 A to B through E T
4) 3 AfromAto 8 N 5 e A ¥ B A AT
X- roduced @ FAE | #
22  The minimum w.ra\ﬂ".-lluen%ﬂ::l ?ﬁmﬁ;ﬁa F;)otential o] _ -
rate . - .
" by an electron ?cﬁ:is el 1.8 : e % U T & SRR S LR AR
difference of V vo . propo = : § N
(1) v2 @ - ST X- @ g amiﬁ SFRATTATAN
1 ' 2 .
1 e 2 14 @) vV
G 7 IO 72 § oo 1
Th rs in the measurement which arise due |£3%  (3) — @ T
2 to Sn;feodic:able fluctuations in temperature and | V v
voltage supply are : 5 .
(1) Random errors % amam&l&flﬁmﬁmaﬁmwﬁw
42) Instrumental errors L,n,} Ao A et ®
(3) Personal errors 5 R St
(4) Least count errors oot 2 X <
: . (2) T gi%:m
24 For Young’s double slit experiment, two itk -
statements are given below: @) ; 3 ”4,
Statement I : If screen is moved away from the |CO  (4) Fwad® IR .
plane of slits, angular separation of the fringes PreEd B
remains ct:mstant.g P = % i % fafrdl WA a;.ﬁW. ﬁﬂﬁgm 3, at =t
Statement II : If the monochromatic source is WS g 1 ;o et R i:f'%]
replaced by another monochromatic source of |3 Aot wefe FrEd oifes AR
larger wavelength, the angular separation of |._} :;q I ;i gt gd @l %‘ggj(w &1 B
fringes decreases. - ! ] St &
In the light of the above statements, choose the W % Wﬁ < & ﬁmﬁ' AL
correct answer from the options given below: b= e TR 7, 4 el ™
(1) Statement I is false but Statement II 1s ikl ® e ¥
frue & o
: e g qcg ¥
A2) Both Statement I and Statement II are Q0 (1) = 1 If g T %%I
true. M Qi F 1 S
(3) Both Statement I and Statement II are 2 g 17 e g I e
false. , =) & jaa’® LA [ Contd
(4) Statement 1 is true but Statement IL1S }&20 (%) e
false. 5" \
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in the ;m & 'gIIn at the speed of
irection 30° above the

horiz
ontal, Th )
€ Maximum height attained by the

bu]let -
1S
E= 98 mad o
(M 30 (8=58ms, snsor-03):
@ 2 00'm (2) 2800
00 m
im (4) 1000 m
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o, when

A Carn -
ot engine has an efficiency of 50
c. The

its .
tcm;::;::rels at a temperature 327°
of the sink is :

(1) 200°c @ 27°C
3) 15°C- o) 100° C

27  The amount of energy required 0 ﬁm'mastJan“bl:'ie
of radius 2 cm from a soap solution 18 nearly °
(surface tension of soap solution = 0.03 N m):

) 50.1x1074J 2) 30.16x1074

G) soexio4y (&) 3017
dioactive substance is

28 The half life of a 12 PRE
e, the activity of

20 minutes. In how much tim

1\h R .
substance drops t© (TE) of its initial value?
2) 20 minutes

(1) 80 minutes
4) 60 minutes

40 minutes

29  The potential energy of a long spring when
e spring is stretched

stretched by 2 cm is U. If th
by 8 cm, potential energy stored in it will be :

(1) 16U @ 2U

(3) 4U 4) 8U
30 The equivalent capacitance of the system shown
in the following circuit is : i :

ﬂ.’.‘t Vv
3uF /;«3 ,)!‘;3\

s =1 s
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Ao—F— 5 "
3uF
(l) 9 !J'F (2) 2 [.I.F
3) 3uF ' 4) 6uF
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31 A vehicle travels half the distance with speed
0 and the remain

ing distance with speed 20.
Its average speed is:

39
1 —_—
(1) .

213
()3

o 49
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29
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32 The ratio of radius of gyration of a solid sphere
of mass Ay and radius R about its own axis to
the radius of gyration of the thin hollow sphere
of same Mmass and radius about its axis is :
(1) 5.2

(2) 3:5
37 5.3 @ 2:5

3 Two bodies of mass m and 9m are placed at a
distance p. The gravitational potential on. the
line Joining the bodies where the gravitational

field equals zero, will be (G = gravitational
Constant)

_20Gm

_8Gm
R R

hH

_12Gm

—

16 Gm
; @ -=dm

ye)

34 The venturi-meter works on :.

(1) The Principle of

Perpendicylar axes
Ly Huygen’ princip

le
(3) Bernou]jjzg Prifnciple

(4) The Principle of Paralle] axeg
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r Physics : Section-B (Q. No. 036 to 050)

3 i : .
6 - The radius of inner most orbit of hydrogen atom
1 -1 : - ;
is $3x107!! m. What is the radius of third
allowed orbit of hydrogen atom?
() 477A @) 053A
(3 106A (4) 159A
37  The resistance of platinum wire at 0°C is 2Q
and 6.8Q at 80°C. The temperature coefficient
of resistance of the wire i8° 4 0 4
(1) 3x107) oo (@) 10,0
3y 3103 °C” (4) 3x107°C
33  Thenet impedance of circuit (a5 shown in figure)
will be :
220V, 50 Hz
(1) 25€ P 1042 0
@) 159 @) 590 ‘
39  Forthe following Jogio circuit, the truth table I:
£
I\'. A
¥
-4 B ‘
ay 4 BY @ 4 B
o 0 0 o 0 I
o 1 0 o 1 1
1 00 1 01
1 1 1 1 1 0
(3) 4 B Y 4 4 B Y
o 0o 0 0o 0 1
o 1 1 o 1 O
1 0 1 1 0 1
i 1 & 1 10
40 10 resistors, each of resistanceé R are connected
in series to a battery of emf E and negligible
internal resistance. Then those aré connected in
parallel to the same battery, the current is
increased n times. The value of 7 18 :
(1) 1000 : 10
fﬁ 100 4) 1
41 ¥ Calculate the maximum acceleration of 2 moving
car so that a body lying on the floor of the car
remains stationary- The coefficient of static
friction between the body and the floor is 0.15
(g=10m s72).
A) soms? (2 12ms™2
(3) 150ms™ @) 15ms™
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o 3 5 B) s
N
Y
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LERON
A W
Y @)
B (j
. @ A BT
@ 'g 0o 0O o 0 1 -
0o 1 0 o 1 1.
10 0 1 0 1
{11 110 0
@ 4 BY @ 4 BY O
0o 0 0 o 0 1 'S
0o 1 1 o1 0 -
| 0 1 { 0 1 6}
o1 1 1 0 "~
qmwumﬁugaslomﬂﬁﬁﬁﬁgaa@
'ﬂﬁﬁmwﬂmﬁﬁqﬁl’eﬂaﬁqﬁﬁ%ﬁﬂ
ﬁﬂﬁﬂﬁﬂ%lﬁﬁmﬁ%ﬁ%ﬂ
Wﬁqﬁﬁﬂﬁﬁﬂm%,?ﬁﬂmnﬁﬁﬁlﬁ%'
pH AM e o
(1) 1000 (2 10 &
(3) 100 (4) 1 :
e mmmﬁlﬁqmﬂaﬁﬁmﬁ
m%mﬂﬂrﬁﬁa@ﬁmﬁ@w@ﬁ?
wof & da @I @Afqs agu TP 0.15.8
(g=10ms‘2)| (W
(1) soms™ @ 12ms” =
(3) 150ms> (4) 15ms >
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43 A satellite is orbiting just above the surface © g <t 0 S % i
) the earth with period T.1fd is the density cfth? _ . ULl Elt—
~ carth and G 15 1 aniversal constrt ” s G WS e A @, @ T &7
éﬁ gravitation, the quantity -é% represents ' aifa HE %
m T @ T ) Jf @ T3
@ T i _ @ T @ T
0 44 A very long conducting Wire is bent in & semi- | 44 R P % ATAL T LS @ AQB
() circular shape from A to B ;SfShw;:dm ﬁglll‘fv"-L T g e At T E Rt =T
i i teady curren :
B T magete P00 1 T s g g 2 w0 i Y
) i i—
o | 0 T .- < Lo T A
%) - R
- E , o | P
' i ;
_____ B - —— L '(_-/
; < B
0 () Eﬂ[]‘?‘} ointed into th Boil, 2
- | "] P ¢ page (m) 4R{1-4ﬁﬁﬁwa&a‘r{
- Wt . . :
(@) =% pointed into the page
. - e @ Mo e ¥ o @ o
J Gv)/-z% pointed away from the page m
fa‘gﬂﬁ@ w2 3) Oﬁﬁ%maﬁaﬂ'(
“) H[I_"} pointed aw
ay fr j
E : g; ] 45  In the figure :ho h . ® %%[ K f‘] A e B
wn here, what i .
f » isthe e . . wad
at T R | 6 S g e 9 5
w0 | =15 at all layers are thin)? m%(ﬁﬁﬁaqaﬁqﬁﬁﬂ')-
& R —
.ﬂf\f@ ¢ i EE: R, =R,=20cm
sl E=*\R, ==
J 0- v il e ¥ s
u ny=16 =N\ 2 -
(1) -50 em
(2) 40 cm
LY —40 em (4) —100 cm
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49 An electric dipole is

50
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Two thin |

blltomt'll:auils lenses are of same focal lengths (/),

When the convex and the other one is concave.

e y are placed in contact with each other,
quivalent focal length of the combination

(1) Infinite @) Zero
A W_ire carrying a current [ along the positive
x-axis has length L. It is keptin a magnetic field

— A 5 i

B=(2i+3j—4k) T. The magnitude of the
magnetic force acting on the wire is :

(1) BL @) 3IL

(3) 5IL 4) SIL

A bullet from a gun is fired on 2 rectangular
wooden block with velocity u. When bullet
travels 24 cm through the block along its length

of bullet becomes -1,;— Then

it further penetrates into the block in the same
direction before coming to rest exactly at the
- other end of the block. The total length of the

block is :
(1) 30cm
(3) 24cm

horizontally, velocity

(2) 27 cm
(4) 28 cm

placed as shown in the figure.
5cm p

0
— t —
- «—>*
LR T
The electric potential (in 102 V) at point P due
to the dipole is (eo=permittivity of free space

1
47 €

and =K):

8 3
(M ;J oK @ [-g] 9K
5

8
6w w5
A horizontal bridge is built across a river. A

student standing on the bridge throws a small

ball vertically upwards with a velocity 4m s

The ball strikes the water surface after 4s. The
height of bridge above water surface is

(Take g=10m 5'2);
(1) 68m (2) 56m
(3) 60m (4) 64m

10
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aﬁﬁuﬁ%lgﬁﬁﬁﬂfg%=
(1) 30 cm (2) 27 cm

(3) 24 cm (4) 28cm
@a@ﬁ@mﬁwﬁhtlﬁgﬂ%mw
p ¢ ferge F (102V F) ¥ (o= T

1 .
Fggaeiierar qdr ZE{;:K).
5cm .——P
0 .
*~— t —e ]
¥ 3cm 3cm +4q
8 3
(1 (5) qK () (-8-] qK

0@ © B
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waﬁ!aﬂtm%|4saﬁﬁaqﬁﬁfﬁj
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(g= 10ms™ aﬁﬁ‘:rq) :
(1) 68 m (2) S56m
(3) 60m (4) 64m
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m : Section-A (Q. No. 051 to 085) 2 BB AT
? ;
51 Tﬂkil‘lg stability as the factor, which Ol"l.e of the 51 . e Cal caGll %7 (2) TIC13 > T‘lg': ;
following represents correct relationship? ay T> Til; () AlCl > Alt13
(1) Tu>TH () TICl; > TICI Inl > 1IN
(}} Inl; > In;i (4) AICI> AlICl, @ At A IAR @ qeafig)
S 3 preafied
52 Identify the product in the following reaction - o .
N i i
2
@ CuzszJrHBr
(i) Cu,Br /HBr () Me/g=iT s SR
(ii) Mg /dry ether_y product (iii) H20
(iii) H,0
OH ;
Ol ot OH
2)
M 9 @ M @
Br Br

MgBr MgBr

Q»y @ ) 3) @ 4)

53  The given compound

53 ™ AT
CH=CH-CH-CH, CH, fen
T CH=CH—(\JH—CH2CH3
X

is an example of

Ao vinylic halide (2) benzylic halide - &1 T STET ¥
3y aryl halide (4) allylic halide (1) ahifve dw (2) Emg
54 In Lassai @ ® aire et &
assaigne’s extract of an organic compound, i Prepd & AEEI ¥
both nitrogen and sulphur are present, which 54 foe ﬁﬁ.ﬁ% aﬁaﬂﬂﬂ W%ﬁﬁm
gives blood red colour with Fe** due to the m%-‘-’h e 4 Fa &
formation of - T @ A mz '
(1 [Fe(SCN)]2+ M [Fe(SCN)] -
; N =Wk
i2) Fe [Fe(CN)] -xH,0 2 F°4[FG(C )6]3
7 4 6 13 2 (3) NaSCN
3) NaSCN - -
(3) NaSC [re(e)s NOS| .
4 ) [ Contd-
(4) [Fe(cN) NOS] |
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56

57

G6_Hindi+English |

Given below are two statements : one is labelled
as Assertion A and the other is labelled as
Reason R :

Assertion A : A reaction can have zero activation
energy.

Reasons R : The minimum extra amount of
energy absorbed by reactant molecules so that
their energy becomes equal to threshold value,
Is called activation energy.

In the light of the above statements, choose the
copect answer from the options given below :

) A is false but R is true.
(2) Both A and R are true and R is the correct
explanation of A,
&9 Both A and R are true and R is NOT the
correct explanation of A.
(4) A is true but R is false.

The right option for the mass of CO, produced
by heating 20 g of 20% pure limestone is
(Atomic mass of Ca = 40)

[Caco3—'?~%0a0+col] .
(1) 132¢g (2) 112g
3 176 ¢ (4) 264g

Complete the following reaction :
OH
0 —HEN
CN
[A] [B]

conc. H250
A

lc]
Clig e _ |
COOH

N2

o O
(3) O—coou
) O—_CHO

12

55

56

57

19 & o g T ¥ 1 T B AT A AT gy

: ) fafea e T EL
mﬁwmm@mwa

2l .
(3) Aok R v ¥, WG R, A &1 78
T R
(4) A w@ %, 9ig R 19« ¥

20% @ g1 9T % 20 g B TH B ¥ IO
cozasaazqm$ﬁfquafé|m%:(&mw
7= =40 )

| caco, 120K, co0. co, |

(1 2 1ll2g

3) (4) 2.64g

Freffiaa sififear @1 g A

132 ¢
1.76 g

OO
CN
(B]

[A]

%, HySO,

= >[C]

[C1% -

1) <}-CO0H
) QOH
3) QCOOH
w0 @CHO

= N ,_h‘l,..



Given below are two statements :
Statement I : A unit formed by the attachment

of a base to 1" position of sugar is known as
nucleoside

Statement IT : When nucleoside is linked to
Phosphorous acid at 5'-position of sugar moiety,
We get nucleotide.,
In the light of the above statements, choose the
correct answer from the options given below :
(1) Statement I is false but Statement I is true.
27" Both Statement I and Statement II are true.
(3) Both Statement I and Statement I are false,
(4) Statement I is true but Statement II is false.

59 A compound is formed by two elements A and
B. The element B forms cubic close packed

Structure and atoms of A occupy 1/3 of
tetrahedral voids. If the formula of th

€ compound
is AXB:,, then the value of x + y is

in option
1) 2 w2y s
3) 4 4 3

The stability of Cu2* is more than Cy*

0 salts in
aqueous solution due to -

(1) second ionisation enthalpy.
277 first ionisation enthalpy.

?3) enthalpy of atomizatjon,
(4) hydration energy.

61  Match List - I with List- 11 -
List- |

List - I1
Coke

A. L

p IL.
/

Fullerene /

Carbon atoms are
SP* hybridised
Used a5 5 dry
lubricant

Used as 3

B. Diamong

C.

1y

D. reducing agent

v, Cage like
moleculeg

Graphitd,

Chmse the ¢
given beloyy -
(1) Aqy, g
@) A, B
< 3) A-

..W, C"lg D"ll
-V, C1, D
IV, B-L, ca, pg
AL B, Cav, pyy
Gﬁ_hHindi+English 1

58

59

Orrect answer from the options

¥
#a Q wot g ™ ‘
o 1+ Pl T % T B L R T I A
i ot 1 TS R %1 '
mmn:mqﬂwmma{ﬁﬂiﬁs -ﬂﬂﬁ’l

T HERE W A e ¥ /e g e
2t ¥

st g TG FEA B o T A R T R
¥ ¥ wh 3T ghm)

(1) =W I e ¥ aig FF 0§ 8\

2) s 1 3l = I =% o= ¥\

(3) = I 3w I 2 srEma ¥

@ Fm Iw@ ¥ aig w1 o ¥

wH At A a = A ol B =« gon ¥ wa B
i s dghv dta s ¥ o A % e
1;3%&%&3%“&%1.@%%{@
AB, & < Tt A A x +y = wR B

1) 2 @) s

3) 4 @ 3

B) wom iy
(@) e
E*ﬁ-mqsh-naamﬁmaam
™W-1 ™W-1
A w L & qom
sp> W@ B ¥
B. ¥ .y Tres ¥ =
| ¥ Iugm fear wmr ¥
C. gwdm L sroaws @ ity
T fe ¥
W Ry g Rt ¥ ¥ W@ s g

(1) AL, B-1V, C, D-II
(2) AL B-IV, C-L, D-II
(3) A-1V, B-1, C-11, D-III
(4) A-lil, B, C-1v, D11

[ Contd...
13



62  Given below are two statements : one is labelled
as Assertion A and the other is labelled as

Reason R :
Assertion A : Helium is used to dilute oxygen

in diving apparatus.

Reasons R : Helium has high solubility in O,.
In the light of the above statements, choose the
correct answer from the options given below :
(1) A is false but R is true.

(2) Both A and R are true and R is the correct

explanation of A.
3) Both A and R are true and R is NOT the

correct explanation of A.
(4) A is true but R is false.
63  Some tranquilizers are listed below. Which one
from the following belongs to barbiturates?
(1) Veronal (2) Chlordiazepoxide
(3" Meprobamate (4) Valium

64  Which of the following statements are NOT

correct?
A. Hydrogen is used to reduce heavy metal

oxides to metals.
B. Heavy water is used to study reaction

-+ mechanism.
C. Hydrogen is used to make saturated fats

from oils.
D. The H-H bond dissociation enthalpy is

lowest as compared to a single bond
between two atoms of any element.
E. Hydrogen reduces oxides of metals that are
more active than iron.
Choose the most appropriate answer from the
options given below :
() A,B,Conly (% B,C,D,E only
(37 B, D only (4) D, E only

65  For a certain reaction, the rate = k[.«ds]2 [B], when
the initial concentration of A is tripled keeping
concentration of B constant, the initial rate would
(1Y increase by a factor of three. 5§ ¥
(2) decrease by a factor of nine. « X
WY increase by a factor of six.~
(4) increase by a factor of nine.

66  Which one is an example of heterogenous
catalysis?

(1) Combination between dinitrogen and
dihydrogen to form ammonia in the
presence of finely divided iron.

(2) Oxidation of sulphur dioxide into sulphur
trioxide in the presence of oxides of nitrogen.

(3) Hydrolysis of sugar catalysed by H* ions.

(9 Decomposition of ozone in presence of
nitrogen monoxide.

62

64

65

66

Gﬁ_Hindi+Eng|ish ] 14

ﬁ%ﬁwmﬁqwﬁlﬁﬁr‘mqw%
@ ‘@rm R’ fafea frar mn §) "
Sy A : A & STy i‘fm ‘
giteiter ® Tg HT B G I Ry P
mn:%ﬂwaﬁoﬁmﬁﬁww%%f
wﬁqwmﬁ%%ﬂ,%&qm%
¥ q wé waT ghe:

(1) A @@ & aig R ¥4 ¥

) Aaﬁ'{Rﬂa’fm%aﬂTR,A@,W%

.

3 qAﬁag{Ra‘ﬁTW%,WER,A#Hﬁ%

|

(4) A¥d ¥ Tg R FEF ¥

A v el GAIEE T TC ¥ T} g

wﬁg’;{;ﬂﬁﬁaﬁm%? i

(1) ¥R (2) FEEiTERER

(3) A (4) fcr

Preffad & & ®-8 HIT Tel T8 E 7

A.  ETEEISTT T SUAT HTL g SHFEEE & oy
¥ srafua # & fag fe amn ¥

B. Wi o @t suan st fearfaty & snagy
¥ forg fepa smar ¥1

C. wESoH & I94T ddl § Sy J9e & e
& o foean smar 2

D. frdt off o & @ TR & 919 WA oy
@ goen & H-H omay Rae ol <m

B 71
E. egsor o & sfus frmsha et &
affegTzel B emfaa T B
(1) ¥a@ A, B,C (2) %aw B, C, D, E
(3) %a@ B, D (4) %aw D, E

fopehr fafire sifufran & fomg,
am = k[A]’[B] %1 W B @t @iz @ fer T
T A B il gigar @ T B W 8, @

.a-q-_

(1) a9 & U6 & &% Sl
(2) 7t F TUE g g g
(3) ® & & &R §% W
(4) & % FTU T Y

Prefifas & @ F—ar frgwid SR & e

&7 ~

(1) é it et ) sufafy ¥ et
35 e ST o SrgerEE & A A0

(2) RN % areEs @ ganer ¥
mmmwmmgﬁw

(3) s &1 HY st g said T

(@) TP RS @ vaRer A A
HAIIZT

[ Contd~



67  Which one of the following statements is

correct?

W
)
(3)

Mg plays roles in neuromuscular function
and interneuronal transmission, ‘

The daily requirement of Mg and Ca in the
human body is estimated to be 0.2 - ¢ 3 g.
All enzymes that utilise ATP ip, phosphate
transfer require Ca as the cofactor,

The bone in human body is an inert and
unchanging substance.

4

Weight (g) of two mole

s of the organic
compound, which is obtain

ed by heating sodium
ethanoate with sodjum hydroxide in presence of
calcium oxide s -
M) 18 (2) 16
3) 32 “) 30

69  The element expecteq to form largest ion 1o
achieve the nearegt noble gas conﬁguration_ is

{1) Na 2 o
B F 4 N

70 The correct ord

er of energies of molecular
orbitals of N, molecule, is -

(1) ols<g* Is<o2s<q* 25<b(

'.-c2px =7 Zp),) <
(rt'2]:rx =7 2py)

<62p, < ¢* 2p,

(2) ols<g" Is<o2s<g* 23<(rt2px

7:2py)<:

Trimnrninetriaquachromhim (I11) chloride
Potassium trioxalatoaluminate (1

Diamminechloridonitrito - N - platinum (1
entaamminecarbonatocobalt (111) chloride
Gﬁ__Hindi+English ]

67

68

69

71

15

Prafvfen sa= ¥ 4 S-w wh &7

(1) Mg datqifmm dfm sy e
it o ¥ gftvr e ¥

() mﬂaarh'{ﬁfMgahCaaHhmaqﬁm

0.2-0.3gagmﬁaa?m§fsl
() w7 demEH W B
IqE H ¥

(4) =rE it ¥ o) ws
T ¥

iR oht et
wmﬁmﬂuﬁﬁ@%m@ﬂ‘maﬁ
ﬁwm*mﬂwﬁ

Cls<e" Is<co25< ot 25.<:(-.-:2px =n2py)<

(“t ZD,‘ =n' 2py) <62p, < g* 2p,

) ols<g* Is<o2s<q* 2&‘.<(:rr2px =R2py)<

G2p, <(1t* 2p, = R'2py)<q' 2p,
3) ois<qo* ls<0.25<cr* 2s<02p, <

(anx = E2p¥)<(ﬂ:‘2px =n'2py)<o‘ 2p,
@) cis<g* Is<o2s<o’ 2s<c62p, <

o" 2p, <(n2px = n2py)<(n‘2px =n*20y)

gl A A Srdfes W b




72

73

74

Intermolecular forces are forces of attraction al:l":
repulsion between interacting particles that wi
-include :

A« dipole - dipole forces.

B.  dipole - induced dipole forces.
C. hydrogen bonding.

D.
E. dispersion forces.

covalent bpnd ing.

Choose the most appropriate answer from the
options given below :

Qj/ A, C, D, E are correct.
(2) B, C, D, E are correct.

43 A, B, C, D are correct.

(4) A, B, C, E are correct.

The number of & bonds, 1 bonds and lone pair
of electrons in pyridine, respectively are -

(1) 12,2, 1

D 11,2,0

(3) 12,3,0 @ 11,31

Select the correct statements from
following :

A

the

Atoms of all elements are composed of two
fundamental particles,

B.  The mass of the electron is
9.10939 x 1031 kg

C.  All the isotopes of a given element show
same chemical properties,

Protons and electrons are collectively
known as nucleons,

E. " Dalton’s atomic theory, regarded the atom
as an ultimate particle of matter,

Choose the correct answer from
given below -

the options

.,?6 B, Cand E only

&) A BandC only
(3) C,Dand E only
(4) Aand E only

GG_Hindi+English ]
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72

73

74

aiﬂnmﬁazsaamﬂw%mﬂfﬁ‘mﬁ

ST S i 5 2 7 40 4
e g %
A faya - frgg
B.&mw%%@w

C. wgiom oo

D. wegah smer

E. vl g
%ﬁqwﬁw'ﬁﬁmmﬁwﬁw
(1) A C, D, E g %

@) B,C,D, Ewfi g

() A B,C, Dufr &

4 A B, CEw
mﬁtcwwmmmhhwmg
@ﬁ%?ﬁl’fﬁﬁ@ﬁﬁﬂ:.%

() 12,21 ) 11,2, 0

() 12,3, 0 “4) 11,3, |
%ﬁ%ﬁh@wﬁﬁmﬁw

A whﬁ%wmﬁwwhmﬁma

B. 3R @1 gapmm 9.10939 x 10731 kg gy
4

C. fodamdah FAI Tt e
TR T ¥

Dﬁﬁ@ﬂﬁﬁﬁ@ﬁmwﬁﬂ
e |

E.ﬁm%wm%m%wmﬁm%ﬁ
T & wY ¥ A

#ﬁhmhﬂﬁﬂmﬁqm:
(1) %W B, C ot E

(2) %W A, B iz C

() %39 C, D ik E

(4) %3 A o E

[ Contdm



15 Identify product (A) in the following reaction -

In-H
-—_______B___)

conc. HC| (A) " 2H20

m S

CH,

()

OH

37

OH
OH

|
4 O

CH,0H

76 Givep below are

as Assertion
€ason R -

Assertigp A:lne
of AG depengg

two Statements -

one ig labelleq
and the other

is labelled as

quation AG=_ FE > Value

on n,

Both A and R are true and R ig the correct
€Xplanation of A,
) Both A and R
Correct explan
@) Ajs true but

are true and
ation of A

R is false.

R is NOT the

Gﬁ__Hindiq-Eng“sh 1

75

76

17

ﬁw&mmﬁmmmmﬁql

el AG=
‘Tﬁnwﬁlﬂrmta

o
WR:EWW—WW%@TAIG
RLEIE o ¥ Fo—
ST R Mg B % e o, A g g Rwed
3 ¥ wh T g
(1 Am%ﬂ:;‘{ga:;g:;,Aﬁww
(2) AsRR -
3) A 3T RIMT 94 &,

@ g i ¥
4 Awa ¥y

~NnFEg & A G &
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77

Which amongst the following options is correct
graphical representation of Boyle’s Law?

N Vi v,
T .
P
1
@ V,<V,<V;
Y
P4
Py
N
T T,>T,>Ty
P
()
T
T
T
L
vV —>

(C))

G6_Hindi+English

(M

2)

€)

(4)

18

Y —

=23

iy

77 Prefaies § ¥ S aaw & P @ w8y,
freor %7

V.
1 V.Z
V3

Vi <V,<V;

N

-

Ty> T, >T,
T
Ty
T
Y
7
1
A

| Contd”



78 ' Fatzs
78 The relation between n,, (N = the nul‘:z::bgf N, = {w ¥
permissible values of mngnetlc.quantum antum de) $ L] n, — I
(m)) for a given value of azimuthal qu 2 2) I=——-i—-'
number (/), is m n,.= Ek 2 .4
(1) n_=1+2 (2) j=tm— 41 ) ny =2
" ‘ @ !=2"m foreray W AT
2
G) I=2n_+1 (4 np=20"+1 49 25°C W KCI :_]%mzsocﬂfam#g@
- -1 c ; ==
79  The conductivity of centimolar solution ‘_?"f Kg; 0'0210;%"%111 60 ohm 1 a« W_fm
at 25°C is 0.0210 ohm~! cm™! and the resistanc A B b () 134 cm
of the cell containing the solution at 25°C 15 (1) 334cm (4) 126 cm
;slo) o!;r|13.41;hni_\;alue of( ;;all Icg-lst:;t_ 38 (3) 3.28 cm L i s (P)
' (37 3.28 cm™! (4) 1.26 cm™! 80 g"’f?’m "*l" e
80 Consider the following reaction and identify the 4. CH-C - CH,
. C —F i
product (P) 3 | | HBr P)
CH, - CH - CH - CH, CH. OH e

f _HBr_, product (P)

CH,; OH 3 — AfyEeg -2 — ¥

3 — Methylbutan—2 - ol

CH, ; l
(1) CHy;-C-CH, Br | : l
r ' CH,
CH,
Br lBr
||
(2) CH,-C-CH, -CH, (2) CH,-C-CH,-CH,
| l
CH, CH,

(3) CH,CH=CH-CH, (3) CH,CH=CH -CH,
7 CH;—fH—fH—Cm (4) CH,-CH-CH-CH,
o |

H; Br CH, Br

81 Which amon
polymerizati

gst the fol]owing molecules on | 81 Frafalga & & @=—w SgFDT Lt "
on produces neoprene? IO HON?

CH,
(]) H2C=C"CH=CH2

\
27 () M0 =G~ G =¥
; HzC=CH~Cl-l=(:H2

() H,C=CH
(‘31 Cl
| =CHj
(3) H2C=C__CH :CH2 i 3) HZC:CJCZ CH
= OH =
(4) H2C:CH__CECH (4) HZC.'C

Gﬁ__Hindi+English 1 19




82

84

85
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A

: mo.ngSt the following, the total number of

cgecws NOT haviig eight electrons arouf
ntral atom in its outer most shell, is

NH;, AICl,, BeCl,, CCl,, PC;
1 1 2 3

35 2 @) 4

ions which of the

Amongst the given opt
Lewis acid”

following molecules / fon acts as 2
(1) OH 2) NH;
(3) H,O (4) BF;3

is labelled

ments : ON€
belled as

Given below are two state
other is 12

as Assertion A and the

Reason R :

Assertion A : Metallic sod

ammonia giving a deep blue sol

paramagnetic.

Reasons R : The deep blue §

the formation of amide.

In the light of the above state

correct answer from the options giv

(1) A is false but R is true.

(2) Both AandR are true and R 1S the co
explanation of A.

(3) Both A and R are true but
correct explanation of A.

in qul.lid

jum dissolves :
which 13

ution,

olution is due to

ments, cho0S€ the
en below :

rrect

R is NOT the

(4) A is true but R is false.

%ich of the following reactions will NOT give
primary amine as the product?

(i) LIAIH4
(i) H;0 © E

(1) CH;CONH, Product

Br, / KO
(2) CH,; CONH, _ By /KOH , product

(i) LiAlH
—— 4 3 Product

(3) CH,CN—-
(i) H;0 @

(i) LiAlH,

—2 "4 5 Product

84

85

(4) CH,NC —
(i) H;0®

20

mﬁqﬂqwﬁ%aﬂmq’{,ﬁﬁqwﬁm

5 @ wh oA I

(1) ABTH%‘T%WWR

(g)‘AaﬂTRG\TﬁW
2l

3) AaﬁTRﬁHﬂﬁ,T@R’AaﬁFﬁw
T %

(4) A 9@ ¥ wig R o@d ¥

ad ¥l
¥ ot R, A @ 9 men

ﬁaﬁﬂiﬂmﬁﬁﬁmﬁﬁﬁaﬁﬂ-ﬁmﬁmﬁ
gt @i T & 7

(i) LIAIH

(1) CHyCONH, —ris

2 Br, / KOH

(i) LiAlH

(3) CH,CN Fare
3 (i) H30 ®
4) CH,NC (f?LiAlH_,;
{11)H30®

[ Contdu'



Echemistry : Section-B (Q. No. 086 to 100) |
86

Which of the following statements are
INCORRECT?
A.

86

Frfafas ¥ A B9 wuw @/ 27
A. W ¥ oivtam o dwem ugE MO

HFEEE T ¥ S omabe 2
B. O o % W Somem siteien ot Sem e

All the transition metals except scandium
form MO oxides which are ionic.
B. The highest oxidation number

corresponding to the group number in
transition metal oxides is att

u-@ m ﬁ' SC203‘& an()—, ﬁ < '5"@
ained in Sc,04 ¥\
o Mn,0O,. C. V3038 V,0,% V05 & 3t s wt smdva
C. Basic character increases from V,05 to WEHOT Sgan B\
V204 to V205.

D.  V;04dissolves in acids to give VO3~ salts.

E. CrO is basic but Cr,0; is amphoteric.
Choose the correct answer from the options
given below :

(1) BandConly (2) Aand E only
(3) Band Donly (4) C and D only

Consider the following reaction :

QCIHz—OQ—}%Aﬂ-B

Identify products A and B.

M A=®-CH3 and B = @—1
1

4) A= @—CHZI and B =®0H

D. V,0, &= ¥ gast VO, weam T ¥\
E. CrO @@ ¥ s Cr,0, wwamit ¥
A g T Rt ¥ A W et ghw

D) FMBATC () vaw AR E
(G) A BAD (4) ¥aw C aw D

87 Fratafas sitviea ot R SR

QCH2—0 @ R SA+B

SUR A 3T B W weaig

@) A=®—CH3G?RB=®~OH
@) A=®-cu20'da‘ﬁta=®—l
@) A=®7CHZI®TB=©'OH

(3) A=

. iy e 3
88  Which amongst the following options is the | 88  Fr=fwtaa R # ﬁafgaq;ﬂ ey 7
correct relation between change in enthalpy and At Sl arE
change in internal energy? (1) AH+AU=AnR
(1) AH+AU=AnR (2) AH=AU-&nRT
(2) AH=AU-AnRT (3) AH=AU+AnRT
T
(3) AH=AU +AngRT (4) M{ﬂbUz-AnRﬁqﬁﬁWM
: ?
(4) AH- AU =- AnRT ﬁ@mmmt
_ \ g9 fec fpa 91
89  What fraction of one.edge centred octahedra

void lies in one unit cell of fcc?

1
@ 2
) o= .
1 9y 4 @ v @ contd
QT @ 3 @ 3
1 1 )
@) 3 @ 3

. 21
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two
ol i 'statements H
The Nutrient deficient Water bodi
Statement 1] | o :
' : Eutrophication le

ads to decrease

(2) Both Statement
(3) Both Statemen
false.

(€))] 1§at!atmmmt Lis correct but Statement 11 is
se.

Iand Statement I are true.
t I and Statement II are

91 Which amongst the following will be most
readily dehydrated under acidic conditions ?

NO,
H
NO,

)
[8)
OH
@) /J\/}\Cﬁs
H

OH OH

92  Match List - I with List- II :

List - I (Oxoacids
of Sulphur)
A. Peroxodisul- L
phuric acid
B. Sulphuricacid Il. Two S-OH, One S=O
C. Pyrosulphuric  Ill. Two S-OH, Four $=0,
acid One S-0-0-8
D. Sulphurous acid IV. Two S-OH, Two §=O
Choose the correct answer from the options
given below :
(1) A-L, B-1V, C-, D-1
(2) A-l, B-II, C-II, D-IV
(3) A-Ill, BV, C-L, D-II
(4) A-l, B-lIL, C-1V, D-lI

List - I1 (Bonds)

One S-0-S

Two S-OH, Four S=0, |.

G6_Hindi+English ]
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92

91

92

e & o g g}

FH 1 : v e o Prem @

0 1L g 3 e v
T ) R
T fog U wae & e o AR

¥ & wuv ghe: &QWM

(1) =9 I swd & 9ig 9 M 7 3
(2) s 1 3 Fa= 11 39 g9 %)

(3) wua I &g w11 3 o
(4) == I 8@ ¢ wig @ 1 ome 3

Prerrfeer % & e o SRfaf y
siftrs s & Proffa e "

(2) CH,

-1 T - 0 % @ frem it

-1 T -1
(et ¥ (srie)
ST
A. eSS I. @& S-OH, 7w 0,
wefE o 7% S-0-

B. weqft® o 1. & S-OH, @ 50
C. wytwerfts il & SOH, T 0
- ws S-0-0-5
D. werpE o IV, & S-OH, 3 50

S farg g Rt # A Tl v I

(1) AL, BV, C-II, D-I
(2) A-l, B, C-II, D-1V
(3) AL, BV, C-IL, DI
(4) A-l, B, C-IV, D-1I

1dentify the ™

93 following react

3)

(o]
I
(0]
3
C
0 X

94 Identify the
following s

CH,CHC

Hi

(1) HC

=
@) (
=
-
3) (
X

‘ (2.} I o

95  The re
blast
temper

) ¢
) ¥
3) 1
@)
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s B et
ol - ot S 3T 3
fofl‘;lf;f,s“r':a?ﬁ?:fz product obtained in the 93 o
i (A rae):)
+2[ Ag(NH,) T + H
H 3l 0
- ' s T T
3-OH _A . major product oH on
OH OH
9 Q) ) ont
v @ cH coo™
CcoO™ S 5
(C))]
A 3)
Heonie & - -
COO™
94 Wﬁi%ﬁﬂﬁﬂf@ﬁﬂﬁmm saE (D)
94 Identify the final product [D] obtained in the 2 et

following sequence of reactions. 1) LiAH HAS0
i) LiAIH CHO = 1 5\A 21 ,\B
CH,CHO —IL:?_—)» [A] __H804 o [B] CH, ) H0F \ -\ A \ ‘
3 ii) H3O A N
T

Br
U " HEe_, Ic) g/ »|D)

Na/dry ether % [D] Na!ﬁﬁﬁw( 4
(1) HC= Cc® Na*

i [c]

(1) HC =C°O Na*

4) C4Hy, @) C4Fho e 900 K &
21l

. : 95 2 Frt ¥ G aa
95  The reaction that does NOT take place m 2 1500 K a0 % & <

blast furnace between 900 K to 1500 K ; SiO3

temperature range during extraction of iron is : (-‘l‘) CaO +5i02 K c:eo +CO2

(1) CaO +Si0, — CaSiO, 2 Fe,03 - 2* cO,

Fe
(2) Fe,0,+CO —>2Fe0 + CO, 3 Fe0 o ( contd”
>
(3) FeO+CO - Fe+CO, c+C

(4) C+CO,—2CO
G6_Hindi+English |
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99

100
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96 Pumice stone is an

(1) foam
(3) gel

Which complex compound js

%)) [CO(NH3)6]2(504)3
@ [co(NH,), (H20)Br](N03)2
3) [CO(NH3)3(N03)3]
(4) [CoC]z(en)z:[NOs

example of -
(2) sol

(4) solid soj

97 most stable?

Consider the following Compoundsjspecies ;

« ]
2
000

The number of compounds/species which obey
Huckel’s rule is .

(1) 5 2 4

3) 6 4 2

The equilibrium concentrations of the species
in the reaction A+B=C+D are 2, 3, 10 and
6 mol L1, respectively at 300 K. AG® for the

reaction is (R =2 cal / mol K)
(1) —13.73 cal (2) 1372.60 cal

() —13726 cal  (4) —1381.80 cal
On balancing the given redox reaction,
aCr,03" +b SO3 (ag) +c H" (aq) —»

2aCr** (aq) + bSO (aq) + E H,0(¢)

the coefficients a, b and ¢ are found to be,
respectively -
(1) 81,3
(3) 3,8, 1

(2J
“)

1,3, 8
1, 8,3

24

96

97

98

929

100

gftre gt SameT ¥
() w" &
(3) w& &

- dge N TR A @ &7
(1) [Co(NH;), | (0,),

@) [Co(NH;), (H,0)Br |(No,),
(3) [Co(Nm,), (Noy), |

) [Cocl,(en), |NO,

(2) @i &
(4) 39 did =

ﬁq&rﬁqaﬂrﬁrﬁ;aflaﬂwwﬁanﬁhq:
8
Q

iii.

| | B S
W O
000

mmmwwmaﬁﬂrﬁmuﬂm
@ e © o

(1) 5 2) 4

3) 6 4) 2

300 K 93 aififsear A+B=C+D & &siiwd
T Wigad wE: 2, 3, 10 3% 6 mol L3
srfafirar & fg AG® ¥: (R =2 cal / mol K)

(1) —=13.73cal  (2) 1372.60 cal
(3) —-13726 cal  (4) —1381.80 cal
QTS SoerdTy afafear B St se w e

a, b 3K ¢ M o= W ¥
a Crzoﬁ‘ +b SO%‘ (aq)+cH(aq) -
2a Cr** (ag) + bSO2" (aq) + % H,0(¢)

(1) 81,3
(3) 3,8, 1



A5 ASSTE T
Reason R : - ophy1€ " o LAl - 2 B L
Assertion A The first S12€¢ 4 Emn;e:‘mgc‘ # a:r‘ﬁ 1 fared s
» i -le 08s 15 m .
the life T-I P::t::wm ‘ovelops direct’y fro s 7 gf;flqﬂ o ¥ o ezl
spores pmduwd in capsule- = Ooqe_thc m A aﬂlig@""ﬁ aa 3 &t
ight of the above S e Options grer 2) o A e
Iﬂ‘::;e-l;f,mp ate answel' fro %| ir:h‘ ﬂ‘ﬂ % m R@
m
below : bt R 5 © . @ A a?g R
(1) A is ot oe% oot and R 1 5 8 ! R @ ¥
BothAandRareCo'T Aﬂﬂ%m '
& correct explanation e ris NOT the “* Hen T SRR
Both A and R are correet B! e P v PR
_ﬁ”' correct exp]anﬂtloﬂ of s 102 -a’géﬂm: - -é‘
@ As - but R i$ not €O Z4dite 3 R HA W e s
colour with Jodine (1) A 3
102 Cellulose does not forr? 8 sdrTEs ¥
because » reacts with it (2) TE Th _ %)
(1y It breakes down when iod? (3) & o G\'"J. e T
@) ltisa disaccharide. (4) zad wted 9 ; & T A
(3) It a helical MOES L ices and 2 qFEHt A8 @ A
Jt does not contain complex el :
hence camo hod 291 e 3 < e WA ¥ AT
103 @ FA-A ¥ oty e ¥ 7
ent i . od for splitting of wm%?&uﬂg"‘% CUEE
103 Which micronutrient 1S required 10 _pq z ) A
water molecule during photosyntheSlS- (1) <= s -
(1) copper (2) manganese (3) Wit |
(3) molybdenum (4) ,magnesium J6r ¥
104 = FITAT Y i
S Tags (ESTs) refers to B i Bl e
104 Expressed Sequence 1ags (1) I bA e .
(1) Certain important expressed genes. @) 3 S, I > ¥
(2). All genes that are expressed as RNA. ¥ Iaﬁ’i R ol L ﬁa!i“""
(3) All genes that are expressed as proteins. (€)) 1 o @qﬁﬁm?ﬂ ; at @
(4) All genes whether expressed Of U ] ' ot @
% a® gﬁl’!

unexpressed.

i ir in the
105  The thickness of ozone in a column of airint 105 opd w

atmosphere is measured in terms of °
(1) Kjlobase (2) Dobson units 3




106 Given below are
i Aderthn At‘::dstatements : One is labelled
Resson R : the other is labelled as
Assertion A : ;

%l]ycolysis. ATP is used at two steps in
eason R : Fi i i
il bl F:rst A'E'P is used in converting
e glucose 6-phosphate and second

is used in conversion of fructose-6-
phosphate into fructose-1-6-diphosphate
In the light of the above statements, cho;me the
correct answer from the options given below :
(1) A is false but R is true.
Both A and R are true an

explanation of A.
Both A and R are true but

correct explanation of A.
(4) A istrue but R is false.

d R is the correct
R is NOT the

sure to UV radiation, DNA stained

with ethidium bromide will show
(1) - Bright orange colour
(2) Bright red colour

(3) Bright blue colour
(4) Bright yellow colour

Upon expo

107

Among ‘The Evil Quartet’, which one I
considered the most important cause driving
extinction of species?

1) Co-extinctions
2): Habitat loss an
(3) Over exp!oitation :
(4) Alien species invasions

entation
for economic gain

following stages of meiosis
of centromere?
2) Mctﬂphasel

4) Anaphase Il

) Which of the
involves division
(1) Telophase x
Gr Metaphase 11

otes internode/petiole

110 Which hormone prom:
ion in deep water rice?

(1) 2,4D (2) GAj3
(3) Kinetin A Ethylene

of recombination between gene pairs
e as a measure of the
to map their position on
the first time by

111 Frequency
on same chromosom

distance between genes
chromosome, was used for

(1) Henking
2) Thomas Hunt Morgan

107

108

109

110

111

(3) Sutton and Boveri
(4)« Alfred Sturtevant-

26
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112 How many ATP and NADPH, are required for | 112 %R a% & 41¢

- N
the synthesis of one molecule of Glucose during forg R ATP o
Calvin cycle?

(1) 18 ATP and 16 NADPH,

1) A
(2) 12 ATP and 12 NADPH, tz) 12 ATP o g:ADPﬂz
(3), 18 ATP and 12 NADPH, (3) 18 ATP 6 NADPH;
(4) 12 ATP and 16 NADPH, (4) 12 ATP i

113 What is the role of RNA polymerase 111 in the ' Hreare A ARG @l
process of transcription in Eukaryotes? u3 it 111 @ @
(1) Transcription of only snRNAs 1) %aw snRNAS U 8S) ®
(2)~ Transcription of rRNAs (28S, 18S and 22)) "RNA (28, 188 ol 5:
5.88) RNA
(3)p Transcription of tRNA, 5 srRNA and 3) tRNAAS ’
snRNA {4 wRR
@¥ Transcription of precursor of mRNA - Frerad &t e
114 %@ I V
114 Family Fabaceae differs from Solanaceae and el H il % ﬂﬂ,
Liliaceae. With respect to the stamens, pick out faferaey & T st :
- the characteristics specific to family Fabaceae 1) uigw &1 P
but not found in Solanaceae or Liliaceae. ; E?_; fead oK et
&1 Epiphyllous and Dithecous anthers () W ady ofi qEer RS QTFT‘Q'?(;H C
(2) Diadelphous and Dithecous anthers (&) T dr oA TS o
(3) Polyadelphous and epipetalous stamens

(4) Monoadelphous and Monothecous anthers

115 aé@ﬁwﬁ@a@lﬁmwﬁw

inati T @t ¥ 7
115 The process of appearance of recombination sifurerg R & Q) TEARE
nodules occurs at which sub stage of prophase (1) Tt i =
" I in meiosis? % (3) ¥rIEL 4 fawzz
(1) Diakinesis (2) Zygotene ’ -
(3) Pachytene (4), Diplotene > | 116 Prefafaa o ®
i [GPP — R =NPP|
116 In the equation S
Jae:p R=NPP| Hdrdr. wtw wafie SaEewd ¥
=8 - A, ¥z mafe sEEsa ¥
GPP is Gross Primary Productivity Eﬁ'z W “%T?
NPP is Net Primary Productivity & (R) @an & ¢

R here is ;
(1) Reproductive allocation
(2) Photosynthetically active radiation

(1) S A |
(2) wegrEset whea fafe

) ) (3) YIET IR
(3) Respiratory quotient (4) vaE= T
(4y Respiratory loss '
_ W7 & 1L afeRear e @ s #id e
117 The reaction centre in PS Il has an absorption o X7
maxima at (1) 780 nm (2) 680 nm LYl
(1) 780 nm {2) 680 nm (3) 700 nm (4) 660 M (ws
(3% 700 nm (4) 660 nm Ll
o e & T g A
18 Unea , | 18 Hg. srgEte
nequivocal proof that DNA is the genetic e feas R a7
material was first proposed by (1) T ire ot
(1) Wilkins and Franklin 2) et BEY
(2) Frederick Griffith (3 ] = a'gmzﬁ
@ Alfred Hershey and Martha Chase ( 4) @ Afrais 3
.(4)  Avery, Macleoid and McCarthy (4) ' '[ Contd...
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_—



119 Spraying of which of the following
phytohormone on juvenile conifers helps in
hastening the maturity period, that leads to early
seed production?

(1) Abscisic Acid

(2) Indole-3-butyric Acid
(3) Gibberellic Acid

(4) Zeatin

120 What is the function of tassels in the corn cob?
(1), To protect seeds
(2) To attract insects
(3) To trap pollen grains
(4) To disperse pollen grains

121 During the purification process for recombinant
DNA technology, addition of chilled ethanol
precipitates out
(1) Polysaccharides (2) RNA
(3, DNA (4) Histones

» 122 In angiosperm, the haploid, diploid and tri[:[loid

structures of a fertilized embryo sac sequentially

are :

(1) Synergids, antipodals and Polar nuclei

(2) Synergids, Primary endosperm nucleus and
zygote

(3) Antipodals, synergids, and primary

“ endosperm nucleus ‘

4y Synergids, Zygote and Primary endosperm
nucleus

123 Large, colourful, fragrant flowers with nectar
are seen in :

(1) wind pollinated plants
(2). insect pollinated plants
(3) bird pollinated plants
(4) bat pollinated plants
124 In tissue culture experiments, leaf mesophyll
cells are put in a culture medium to form callus.
This phenomenon may be called as :
(1) Senescence
(2) Differentiation
(3) Dedifferentiation
(4). Development
G6~Hi“di+Ellglish ]
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119

120

121

122

123

124

o7 ST B §7

(1) uedifw T

2) w3 o

3) o

©)

0, Mﬁmﬁ‘m

@) Bl @ e T

G) mﬁﬂﬁﬁqaﬁ.:"

) et @ B

Wﬁ.@.q.aﬁﬁﬁwm*fﬁﬁ

e gae 9 aafa T § 7

(1) I S C R UEE] (2) ETe

3) AT @ R

mqﬁaﬁeﬁmaﬁrﬁ@ﬁﬁmwm%mﬁm

Waﬂ-{f‘ﬂf&mmﬁmzﬁwﬁ%?

1) WWWW@TW

() ToTd B, TS Fea AT g
‘ Fed 3wk

oy
(4) @ B, g i Tt YOI G5

a%,tﬂﬂ,gfﬁugwamqaﬁﬁﬁﬂ{fgwfmﬁ
T

(1) arg T qEd

(2) @i gl ey

(3) Gl Wi qEd

(4) TWES GXRTT IEd

S o U
wwwﬁmﬁﬁmww@
e @Y T HE S Wbl & ¢
(1) e
2) FrdeT
(3) Ffade
(4) ufaes
[Contd"'



125 Given below are two statements

125 9 A wow Ry m ¥
Statement I : The forces generated by
transpiration can lift a

_ AR SRR S B U R N ——
t 130 meters l)gil;m‘med colum of THE W @ 130 K. Sm e m@m b
\gtzf;n?:s: I : Transpiration cools leaf surfaces FH L : At shaes % ST A
sometimes 10 to 15 degrees, by evaporative T B BR-FN 10-15 Ry S B ¥ e: .
ling, ELLchl { % T ot
ml:: light of the above statements, choose‘ the ?5@ ® H, A Ry
mtlhst appropriate answer from the optiong given T:?; e I'Rﬂ?[ 3 L1 RE
below -
(40} Statement | s incorrect but Statement 11 ) = 1 W == 10 T W ¥
IS correct, * : '
(2) Both ‘.tStatement I and Statement 11 are 2‘34)) ::: : $ ;ﬂ%:”:ﬁq m E)
correct,
Gy Both Sta:tement I and Statement 11 are 126 3w Pafyeran o Wrsthes TR e e Ty
incorrect,
@ '$tatement_l is correct but Statement 17 g T R ¥ fow o ¥ 3 av?
incorrect, 1) 2002 (2) 1985
126 Theehliis;?trl'ilc Convggtmn og ?(;qlogica; Diversity, 3) 1992 (4) 1936
; ummit® was held in io de Janeirg : :
in the year - 127 Wﬂmﬁm?& ?ﬁﬁl"ﬂ%&l‘a
6 2302 (2) 1985 %W%Wﬁmﬁﬂgﬁ?ﬁ;‘th ﬁlﬂﬁﬁ
(3) 1992 4) 1986 ok
127 1y gene py i =
B o el DN ® @ o
m are used D—— TR @ Kk
(1) Silver (2) Copper 128 ok 3 ST iy
3) Zine (4) Tungsten or gold Ry e TR F freg IR ey
128 Mo\rt]a)ment and ACCumulatigp of ions S T & ?"1333'! ™ E) £ ﬁﬁﬂ%ﬁ EARA] ey o T
Membrane againg, h
&a;b; :;p;g}igs bt ir Concentration gradient ) sy ‘Tﬁﬂ‘(:q
ctive Ty
(2) Osmosig it \ %) ey
(3) acilitateq Diffusion ) ﬁ'ﬂ'{q
(4) Passive Transport (4) Tifery ity
129 Axile Placentatjoy, ; 129 Wiy él‘ﬂi'ﬂg‘vqm
EB ina ro l,o%els 2?; ewgdL:a%()n M) g S v Y
(3) Ch Sta_[‘d, ugumbe d Prll'nrose (2) ) i,, _ér(h?m Q’?‘T #q
™19, Dianthys cng LUpin 0) vy, g .
30 dentify 4 = O L
. trwcnrﬁ::mc rif tatements o, Sty 3t "X
B. e hiu, P rg(llgentgtggn_ 130 w3 B ) e
mn i
C. le::t::-be luble joor neralizati n, > Som A TR ot =y T w ¥
into the nd- anC Nutrients g down B. gwym ST gy T 3 st erafe
o %rl:)cess calleq leachgi?]tg Precipitateq by a . TR ¥ Ry EiSirTT e e 3 =
E OErganisrr;tus 1o0d chain begins with living :T%: ¥ aﬁthama@rha AR & ol P wE
s;:ll}:;oggls.ﬁgeakbd‘“’\’n detrityg into D ¥ e i Sl & ooy By 3
Cataber: 5 BY & Sroes - U @ sy s
C.hoo th(éhir;:.rec S called E. ¥ 1 wiza w BIZ & ¥ g
gIven belqy, . answer from the options b R s sl .
')'ﬂD,E,Aomy T Rl Rt & @ Wt e g
@) B ¢ L2 A B, C only (1) ¥7@ D, E,A  (2) %@ A, B, C
oy L@ ¢ D, E only (3) %@ B.C,D  (4) ¥awm C, D, E
_Hingj 3
di EllgllSh | 29 .
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1 1 f DNA takes 131
131 Among ecukaryotes, replication © Ty Ga oy =
lace in - ayerEelT
FI) G, phase (5) C-";d z?_lﬂassi 3) == .
(3)- S phase > 1 — o oy wer R = H%;
" X: ﬂmliaﬂlﬁ =T =11
2 are two statements : =HIT T fregfey oot =/ T
132 Gever Zzior: Endarch and exarch are t_hc_s termf_ or=ar & -Fg'-?gflﬁ _
S;‘z:::mused for describing thc:l position < WISI“E” =TT AT I BT Sy
o : b 2 HeTA - ==l
Jem in the plant body- o
Sec?:::ilzt XIJ;’ l==: Exarch condition 1S the most &1 =iy % e 2, <ra B frepeal o @ w&
=St?11n10n feature of the root systerl. hoose the sgHdasT :
c he light of the above statements, SACT0 L =z I ot & TTD woa=r LI < ¥
.I::;rr-ect answer from the option® g&“::a:t':;ment X ci) wew sfrc == LI = T ¥
1) Statement I is incorrect but 2) Faa I i TX B =
is true. Statement II are 3y =1 2 arg HuT I STEE 1
_€¢z) Both Statement I and 4> = 1 o€l
true. are ?
G Be Seatemnent T and A 133 g =y "g=r mﬁ;rﬂT aref & s et
false. tement II is (1 = & orfres S0 = =L ) TR
(4) Statement I is correct but Sta wa T ; foremed) @
false. g geper ST %6 =Ed a werenn (T )
Yeiotropism refers to = Msﬁﬁuﬁwﬁ“ﬁﬁwmw
133 The phenomenon of pléu:::ggg:;mglechmﬂcmr» il )
thantwogfﬂlesaﬂ - = Lol
g21)) g:'g:—‘"ce of several alleles of 2 e (3> = Tl o5y saRuaRy, g BT =7 ST O IHe
controlling a Sings SO oh of th o regor =By FratEE LT B
(3) presence of TWO ﬂ”e-]es’l e?r‘:;t ” 4) um THA Shr=r ot sga & ¥ aredy st
controlling a single t - = i 2
1) _- fi?:gsle gene affecting multiple phenotyp!e T T
=~ expression- 134 Preraiaa @ fraaRomeEs SRETHEEE ¥ g™ B
134 Identify the pair of heterosporous pteridophytcs gsTfe
among the following : ) 1) bl afrc eI
(1) Eguiserum and Salvinia (2) EFIEBIHETT T RyATAIFT
(2)« Lycopadizri and Sefag_mﬁ"’"" 3) Prerofr=Ferr 3L TSI HTET
(3 Selaginella and Salviric ) arEeieT ST rehfraT
(4) Psilorurr: and Salviria -
i r=r o1 2 T ':Q?ﬁﬁamﬁﬂﬂA T
135 Given below are two statelncr’l’!ts = Onc;-: llj llalb:;lled 135 =Y R e £
as Assertion A and the other is labe e as TEIT FILA - o —
Reason R : Ay FEAI A 11_3?:31‘@? F i ifseprall
Assertion A Late wood has fewer xylary o2 SIrserH dod = B %
elements with narrow vessels. i ) Frror R : GiEar F = T ere=t @j‘:"_ 1
Reason R : Cambium is less active in winters. SaegeT ser=¥ ¥ T &, <frar B T Faepeal 5 a9 g8
In the light of the above statements, choose the :
correct answer from the options given below : st g
(1) A is false but R is true. (1) A 3I8/H ® m R%W %ll:l ™ =
(2) Both A and R are true and R is the correct 2) %A afrt R == 9 ST - H1 e =TE
explanation of A. 1 )
true but R is NOT the 3> AaﬁTRﬁw%uﬁﬂ,AaﬁﬂﬁW
=& B
(4) A ag & ad R 318 |
[ Contd.-.-

(3) Both A and R are
correct explanation of A.

(43 A is true but R is false.
30

G6 Hindi+English ]



137

138

Gé

36

136/ ldentify the cor
A, :

are the leps.
the exchange
ormed early
hard bark

ark is a technical term that refers to all
tissues exterior tg Vascular cambium.

ark refers to periderm and secondary

shaped openings
of gases,
in the season is called

o N "

Phloem,

A and p onl

y
A, B and p

only

Match List I wit
List |

A M Phase

h List II -

List 11

Proteins are
Synthesized
Inactive phage
Interva] between
mitosis and
initiation of DNA
replication
quationa]

ivision

L.
B.

G, Phase
3,

uiesc_ent
stage

IL
1.

:One jg labelleq
s labelled as

gymnOSperms the
releag

be from e

Y air Curreptg,
nts carr},: the N graing

°8onig € male
. e i

o In
Ins r

. and Carried

€and R g the Correct

are true byt R -
cotrect EXplanatjoy of A, Wt e
IS true byt R is false,

136

137

138

31

ot el _ -

@ ¥

B mmﬁﬁw@‘wwm

c Tm::%msm%aﬁﬁaﬁﬁﬁzfl
| m%aﬁmﬁ%ﬁﬁtﬁﬁ“@?ﬁ?‘

D. m,wﬁﬂﬁaﬂtﬁﬁhwwhmﬁamﬁwgﬁ

¥
E. immlq‘nzﬁﬂiqmmahaﬁl%i
T R W R

¥ ¥ wh o gfm
1) %@ B &l C
22) &HHB,CG?!TE
Q) Fw Ast D
(4) %@ A, B sk D

(1) Asresi ¥
@) AsrRr

T

() A st R 2 e ¥ wr R, A %) et =re
& ¥

(4) A 99 ¥ 9ty R o ¥

R 9 %)
aﬁ%%eﬁr&r\aﬁvﬁw
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139 Match List I with List II

List 1
A. Iron I.
B. Zinc I1.
C. Boron 118

D. Molybdenum IV.

Choos
below :

(3) A-L-B-ll,

4)
14
for chemiosmosis?
(1) proton pump,
synthase
(2) membrane,
ATP synthase
3) membrane. prot
NADP synthase
(4) proton pump,
synthase

Main steps in

e the correct answer from the optior

1) AL BV, C-1. D-II
A-lIL B-II. C-L. D-1V

1, C-1V, DI
v, D-II

0 Which of the following com
electron gra

proton pump, proto

on pump, proton grad
elec

the formation O
below. Arrange t

List II
Synthesis of auxin

C_omponent of
nitrate reductase
Activator of catalase

Cell elongation

and differentiation
15 given

binations IS required
dient, NADP
n gradient,
ient,

tron gradients ATP

f Recombinant
hese steps ina

141
DNA are given
correct sequence.
A. Insertion of recombinant DNA into the host
cell.
Cutting of DNA at specific location by
restriction enzyme.
C. Isolation of desired DNA fragment.
D. Ampliﬁcation of gene of interest using PCR.
Choose the correct answer from the options given
below :
@) B.D.A.C- @,B,C,D,A
3) C. A B D 4).C. B D.
142 Which one of the following statements 15 NOT
correct?
(1)~ The amount of some toxic substances of
e water increases in the

industrial wast
organisms al success
The micro i
biodegradation
sewage polluted water

of oxygen cau
organisms.
Algal bloom

matter in wa
promote fisheries.

@)

3)

4)
©  eutrophic walter bo

imbalance in the ec
the water body.

G6_Hindi+English |

ive trophic Jevels.

-organisms i i
of organic M
body consume 2 lot
sing the de

s caused by €xX
ter improve water qua

involved 1N
atter in a

death of aquatic

cess of organic
lity and

abundantly in

Water hyacinth grows
dies and leads to an
osystem dynamics 0

32

140

141

142

(2)

3)

4)



@

144

145

146

Which of the following statements are correct
. a
about Klinefelter's Syndrome? .
This disorder was first described by
Langdon Down (1866).

143

B.  Such an individual has overall masc_ui_me .

development. However, ﬂhe feminine
ent is also expressed.

C, g‘?:::?iwd individual is short statured.l

D. Physical, psychomotor and menta
development is retarded.

E.  Such individuals are sterile.

Cho

ose the correct answer from the options
given below -

(1) Aand E only

(2) A and B only
(3) Cand D only

(4) B and E only
Match List 1 with List II :
List T
(lnteraction)

144

List IT
(Species A and B)
A, Mutualism L. +(A), O(B)
B.  Commensalism . ~(A), O(B)
C.  Amensalism . +(A), «(B)

D. Parasitism IV. +A), +(B)

Choose the correct answer from the options
given below :

(1) A, B-I, C1v, Do
() A-IV, B-1I, C-I, D1
() A-V, B, C-11, D-111
4) A, B-IIL, C-I, D11

Given below are two
as Assertion A
Reason R -

Asseniun A:A flower
shoot whereip, the

Statements : Ope s labelled 145
and the other is labelled as
is defined as modified

shoot apjca| meristem changes

dare tl’ue and R i.S th
Xplanatiop of A, € Correct

Both A ang R
Correct ex

(4) A

How mapy g: ;
Y differep; roteing ;
consist gfo p does the ribosome

) 29
() 80
3) 60 @) 40

are true byt g

Plahation of A.

is NOT the
IS trug by
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g &7

; _7r U

Wﬁﬁ“gﬁfawﬁmwﬁ” =3 (1866)
v a1 a9

A. za fat @l

B. uh afd
gt af B2 STHTC
C

Ry TarepTe B ST
D. i, Sz ST
Bl .
oo B B :
5{% ETTEW #a ‘;ﬂ;aﬁ; E[:?,T B
(1) ¥aw A ohCE (?1)' yaw B ST E
3) Faa C 3k D (
@Iﬁ@lﬁwwﬂﬁ%u
™I (w1 A 3dIr B)
(s L +A), O(B)
i TORBIAT Il ~(A), O(B)
C. st vt L +(A), <(B)
E' g V. +(A), +(B)
A o Rt ¥ 4 @ e o
(1) AL, B-L, C-1V, D-It
(2) A-IV, B, C-I, DY
(3) AV, B-L, C-I1, Dy
(4) AV, BIII, €1, po
2 e ey & $ T v T A T s
TUF@M R R .
ﬁﬁ"mwmqwgﬂqaﬁmﬁmﬁmﬁ
areeTi et s & e e A @ afvade
e Afew § W B
TR Az F qg T Bt st vl W

TR P Ty FT

SR T ¥ et 4, Wy Ry 1 Rt & &

ST g - ;

() A swa ¥ weg R w31

@) A 3R R i W ¥ s R, A @ wé @
¥

‘Gf[w R
3) AR gt wg R A ?

wE ¥
(4) Aww ¥ urg R o ¥

—forer S B ¥
146 TEswm ¥ Rras PR

2) 80
(4) 40

(1) 20
(3) 60

l ('on td---




147 Match List I with List II :

fﬁ} Match List I with List II :

.

N

1 (3)

A. g:Jsl:egion I. li'flllz:_elgttraction in
B. Adhesion I1. ;;/?;tjaria]?tsriction
| among water
( G i?]r:;a;:: I11. ?Vg]t;iull:sss in
D. Guttation V. f;&tl:';it?gs $t'.:)wards

polar surfaces
g':(;ﬁsf)eﬂ:fv c:orrect answer from the options
(1) A-II, B-I, C-1V, D-III
(2r A-II, B-1V, C-1, D-lII
(3) A-IV, B-II, C-II, D-I
(4) A-II, B-1, C-1V, D-Il

List 1 i

A. Oxidative L é‘::rtag
decarboxylation / _ synthase

B. Glycolysis II. Pyruvate

C. Oxidative I11. %ngzg;?]genase_
phosphorylation transport system

D. Tricarboxylic <IV. EMP pathway
acid cycle

Choose the correct answer from the options given
below :

(1) AL B-IV, C-III, D-I

(2) A-lIL B-IV, C-11, D-I

A-ll, B-1V, C-I, D-1II

(4) A-II, B-l, C-11, D-IV

149 Melonate inhibits the growth of pathogenic

150

bacteria by inhibiting the activity of
(1) Dinitrogenase

(2 Succinic dehydrogenase

(3) Amylase

(4) Lipase

Given below are two statements :
Statement I : Gause’s ‘Competitive Exclusion
Principle’ states that two closely related species
competing for the same resources cannot co-
exist indefinitely and competitively inferior oné
will be eliminated eventually.
Statement I1 : In general, carnivores arc more
adversely affected by competition than
herbivores.
In the light of the above statements, choose the
correct answer from the options given below :
(1) + Statement L is incorrect but Statement 1|
is true.
Both Statement I and Statement II are true.
(3) Both Statement I and Statement II are

false.
(4) Statement I is correct but Statement I1I is

false.

G6_Hindi+English ]
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147 @Iﬁ’r@u%magﬁﬁﬁaﬁﬁﬂﬁ:
11

148

149

150

T 1 o _
A. g [ a9 o@en ¥ auagd
i ST
B. s [L\ st orgel &
’ Y@ SHI
C. g= aId [[l. 7 @ § W @ e

D. fag &@ IV, g aaE @ e ST
S R T e d & @ I gfm :

(1) A-IL B-I, C-IV, D-II

@) A-IL, B-1V, C, DI

(3) A-IV, B-II, C-TI, D-1

(4) AL B, C-1IV, D-II

@las‘rq:eﬁn.&smugarﬁﬁaaﬁrqz
T 1 I

A, ot | e fedw
SrprEraaaeT

B. wrawsws 1L qreede feeRifa

Cc. omadefE [ soraz REe o=
HrEpI @

D. zeeEmEte V. z o7 q1. AR
A qH

ﬁ\ﬁﬁﬁnﬁﬁaﬁq‘fﬁﬁaﬁwiﬁq:

(1) AL B-IV, CII, DI
(2) AL, B-IV, C-II, DI

(3) AL BV, C-1, D-III

(4) A, B, C-IL DIV

Aeirre fRad afaar B THHY, T SAETH
2 s @ T ¥

(1) sEARAN

¥)) amhﬁzﬁa-srsa’ffeﬁm

(3) TAEE
(4) @R

ot g ¢

a;uqlﬂaa%urﬂﬁﬂﬂw'%‘
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Taolopy : Section-A (Q. No. 15T 10 155,
h List I with List 11,

151 Ma{cLis " List 11
A Gene '’ 1. B-galactosidase
B‘ Gene ‘y’ 11, Transacetylase
C Gene P Permease
D. Gene ‘2 V. Repressor protein
Choose the correct answer from the optiong
iven below:

() A-IIL B-I, C-IV, D-II
2 AL B-l, C-1v, D1y
(3) AL B-IIL C-Iv, D
(4) AL B-1V, C-I, D
Given below are two statements:

Statement It Ligaments 5
tissue.

152

re dense irre gular

correct answer from the options given below:

(lg Statement Lis false byt Statement I i trye,

(2) Both Statement I ang Statement IT are true,

(3) Both Statement T ang Statement 1T are
false.

(4) Statement I is true byt Statement I is false
Given below are two statements: one s labelled
as Assertion A and the other is labelled as
Reason R.

Assertion

153

A: Amniocentesis for
On is one of the Strategies of
Reproductive and Child Health Care Programme.,
al on amniocentesis checks
increasing menace of female foeticide.

In the light of the above Statements, choose the
correct answer from the

options given below:
(1). A is false but R is

true,
C@)- Both A and R are true and R is the correct
explanation of A,

Both A and R are true a

nd R is NOT the
correct explanation of A

4) A is true but R is false.

154 Match List | with List II,
List 1 List 11
(Type of Joint) (Found between)
A.  Cartilaginous L. Between flat
Joint skull bones
B. Ball and . Between adjacent
Socket Joint vertebrae in
' vertebral column
C.  Fibrous Joint 1y, Between carpal and
metacarpal of thumb
D. Saddle Joint v

Between Humerus
and Pectoral girdle
Choose the correct answer from the options
given below:

(1) A, B-1V, C-111, D1

(2) A-III, B, C-I1, D-1v

(3 AL By, C-1, D

(4) A, B-IV, CJIL, DI

Gﬁ__Hindi+English 1
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D R 1S w0 g o
b s

A. 7 L B-

B o L Zreuderdes

C. xg;g L vofs

D. ¥ V. ward fide

T fag

T i ¥ ¥
(n A-III, B, C-1V, D-I1
(2) Al B-l, C-1V, D-111
() AL, B, C-IV, D
4) A-II1, B-1v, C-1, D-II
A o Ry my ¥
F1 Ik ¥y “
FH 1L 3oy we Prafrg s &)

Gﬁﬁww%mmﬁ%ﬁqmﬁw&nﬁ
T & "9 H)|

() 01 o ¥ ey w10 a3y

@) ¥ T 1w 10T 3

3) a‘ﬁ’faimlqallam%t

(4) Emlm%ﬁmaﬁmllm%t

ﬁﬂﬁﬁﬁﬁﬂﬁ%:%mﬁA%iﬂﬂm

R %

alﬁmuqmﬁhﬁuhuﬁsfwmmmqﬂm

wmmﬁwgﬁa%i

mk:m&mwmua@%mmwm

& TR B e B .

mmﬁ%mﬁ.ﬁ%ﬁqmﬁmﬁﬂfﬁ
ST T9 )

Wi R @ ¥

A@R:’ﬁtw%t{a‘k,fxﬁmw%l

Q@Raﬁmtqﬁ&Aﬁaﬁwwﬁ

1

4) A FT ¥ AT R orw 3
& 5 11 % gy HUI

(& W wrn e %)
3 BT TR
%

78
Howas § o
Frpead] Horeme
ﬂmz%da&am
T Ud a9

ST & T B

(& = wm)

A, SRy L.
wfy

B. %3® afwem I
Y

C. Yfa dfr
D., e o LRI )

M Ry o el A R W oA A T
(1) A-ll, BV, C-lIL, DI
(2) A, B-L, C-II, D-1V ¥
(3) A-II, B-1V, C-I, D-II
(4) A-L, B-1V, C-lI, D-II

111

Iv.

o BB
=3
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157

Given below are two statements:
Statement I: Vas deferens receives a duct from

seminal vesicle and opens into urethra as the

ejaculatory duct. _
Statement II: The cavity of the cervix is called

cervical canal which along with vagina forms

birth canal.
In the light of the above statements, choose the

correct answer from the options given below:

(1) Statement I incorrect but Statement II is
true.

) Both Statement I and Statement II are

true.

3) fE}cIJth Statement I and Statement II are
alse.

(4) Statement I is correct but Statement II is

false.

Which one of the following techniques does not

serve the purpose of early diagnosis of a disease

for its early treatment?

(p Enzyme Linked Immuno-Sorbent Assay
(ELISA) technique

(2) Recombinant DNA Technology

(3) Serum and Urine analysis

(4) Polymerase Chain Reaction (PCR)

technique

Which one of the following common sexually
transmitted diseases is completely curable when
detected early and treated properly?

(1) HIV Infection (2) Genital herpes

(3) Gonorrhoea (4) Hepatitis-B

Which of the following is not a cloning vector?
ATF

(1) Probe (2) BAC
Match List 1 with List IL
List I List 11
B. GIP /:i. Heart
C. ANF.- [1I. Gastric gland
Choose the correct answer from the options
given below:
£2) A-1V, B-ll; C-lI; D-1
(3) A-IL, B-II, C-1V, D-I

(3) YAC ) pBR322.
A. CCK Kidney
D. ADH .~ IV. Pancreas
(1) A-lv, B-Il, C-llI, D-I

v+ (4) A-ll, B-1V, C-I, D-III

168 Which of the following are NOT considered as

Cﬁ_“illdid—Enghgh l

the part of endomembrane system?

A. Mitochondria 2

B. ' Endoplasmic Reticulumv

KX Chloroplasts o™ o\
Golgi complex Ui Q,G‘L

E.  Peroxisomes «

Choose the most fite

?F;im:’ L bel:\[:propnate answer from the
- D and E on]

: ) Y (2) B and D onl

P A, Cand E only (4) A and D onlff
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A o o Ry g F

o I: eTes A A T A T BT §
oire wrw ¥ T afe & €9 g &)

T I1: aifaa @ e B gaee T FEd ¥ @y
Ay % @ S A @ 8

e e 3 e ¥, A R T Fol 3 & wh
I H T4 B

) F 1 orae & afeT &4 11 8 #)

(2) @i = [ d 11 9 €|

(3) @i w1 ud 11 o §1

(4) w1 g ¥ afpa wom 11 o &1

Pt & & A aein T U & A S %

o wrife frem § sean @ E 7

(1) UwEw wear wfcen sivod S (Temss)
() gt digag S '

(3) drw wd o s

(4) s 3 frogem (frefremt) TS
Pt & § F QA T A gafid W0 E A aw
T T U A ST S & SUE S
&% € wHd ¥ 7

(1) wgemddy @I (2) Wt uREd

Q) TT® (4) TFama-B
fr & ¥ B TR gaes T § 7
(1) wa (2) BAC
(3) YAC (4) pBR322
T 1% T 1 & arg gafed &4
T I T 11
A. HEh . I
B. <homsd . &=
C. TUTATH I v ui
D. uduE IV. e
9 Ru o Rt ¥ A 7@ IA B 99T |

(1) A-IV, B-II, C-III, D-I

2) A-1V, B-111, C-II, D-1

(3) AL, B-II, C-IV, D-I

4) A-ll, B-1V, C-I, D-III

freq § | B A ofa:Rifwrn a3 @ W TE A W
%7

A. GIBOTH

B. aicsed wfw

C. wUHRE

D. Ticelr dftds

E. wiadam

firer faepeal @ @) Sfaa 3T &0 9gq &l

(1) %aw@ A, Dug E (2) %aw Bud D
(3) %aw A,Cud E (4) %aw Awa D

| Contd.



: ith List 11,
161 Matcli llhlslt I with —_—
A. Taenia L Nephridia -
B. Paramoecium. __ 1j. Ontractile v
C. Periplanetq m

acuole .
- Flame cells -

D. Pheretimg v, se glang

Choose the correet answer from ¢

below:

- Caecal yalye
4) Gastro . O¢sophageq) Sphincter

163  Match Lig¢ I with List O with Tespect tq humap
eye. '

List 11

1L

N |V : TR
S nest

. Parasitigy, - -
T00t of g

COrTtizge Mutualism,
cattle egret g g

™ w1V e
D. w = REIE UL
from the Options

-y

CRER “!3% X T T @ T

Teraeat

ﬁ? B B, C1, DIV

} ( ) A'l ,B_ll’ C-“.L D:“l

> DIV (%)) AL, B, C'g‘l e
L B, C-Iv, D, ((4) A-III, B-1V, C-1,

DAL Ry, C, Dy
~Aindit B g |

£ ¥




165 Which of the following statements are correct

166

167

168

regarding female reproductive cycle?

A. In non-primate mammals cyclical changes
during reproduction are called oestrus cycle.

?. Flrst menstrual cycle begins at puberty and
is called menopause.

C. Lack of menstruation may be indicative of
pregnancy.

D. Cyclic menstruation extends between

menarche and menopause.
Chgose the most appropriate answer from the
options given below:

.y A C and D only

A and D only

!3);A and B only

(4) XA, B and C only

Given below are two statements:

Statement I: Low temperature preserves the
enzyme in a temporarily inactive state whereas
high temperature destroys enzymatic activity
because proteins are denatured by heat.
Statement II: When the inhibitor closely
resembles the substrate in its molecular structure
and inhibits the activity of the enzyme, it is
known as competitive inhibitor.

In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I is false but Statement II is

true.
(2) Both Statement I and Statement II are
true.
(37 Both Statement [ and Statement II are
false. _
4) Statement I is true but Statement I is
false.
Radial symmetry is NOT found in adults of
phylum :
2) Ctenophora

(N Echinodermata
ichordata  (4) Coelenterata

(3) Hem

Match List I with List IL
List I List 11

A. Vasectomy. I.  Oral method

B. Coitus ~ 1l. Barrier method
interruptus ﬂ\\‘\h

C. Cervical caps \l Surgical method

D. Saheli V. Natural method

Choose the correct answer from the options

given below:

X1) A-1V, B, C-1, D-1lI

_(2) A1 B, C-IV, DIl

A-111, B-1V, C-I, D-I
(4) A1, B-11, G-I, D1V
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frer & & W1 w9 B (a9d T B W B
g2
A Ao sl A § 9 & A0 w6y
qfadA B A 9 e ¢
umﬂmaww“gaﬁmzm
i @ T
xgmaﬂagq&uﬁlwﬁﬂraﬁt@mh
D. aﬁqwmhﬁmﬁqhmm%,
ﬁﬁqmﬁmﬁﬂmsﬁammwﬁ,
(1) ¥a@ A, CT@ D

2) %W AT D

(3) ¥aw AT B

(4) ¥aw A, BT C

B.

C.

P - 1] |
w[:ﬁﬂwwﬂmﬂﬁ‘méﬁm

mﬁ@am%mﬁﬁww
ﬁﬁﬁmaﬁamaiatm%mttﬁ?ﬁwﬁu}aq
faga & W &
muzmmaﬁraﬁaﬁmﬁm
émﬂ%mﬁmm%aﬁtﬂﬁﬁqﬂﬁﬁmﬁmﬁ
ﬁaﬁaw%a‘rﬁmﬁﬂmﬂmmiu
mﬁaaamﬂ‘f%swmﬁ'?ﬁ%ﬁq '
w9 @ 949 B
(1) mlm%éﬁﬁmuw%n
)] it w1 7d 1 & B

3) i w1 wd 11 o7 1

) e 1 e & af o 11 o ¥

I1l.
D, @ v, gt fafd
ﬁmwmﬁaaﬂwwwﬁ'.
(1) AV, B-L, CL. D-111

@) Al B, CIV: D-Il

3) AL, BV, CIL DI

(4) AL BAIL, C-L DIV
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69  Match List I wiy, List 11.
. List I

List 11 o
Secretion
Cells) (
. {:’e;tic cells. Mucusg

IL  Bile Jjuice )
i g;ybLiEcczgﬁs M. menzyn_*le gep?.lr;‘ngg:
Hepatic cells v HCl and mtpnsncfac
s for absorption ¢
Vitamin B 2 )
Choose the correct answer from the Optiong
iven below-
?1} A-Il, B-1v, ¢

onw

Ll B‘[, C‘ll], D-Iv -
VAT Al B-I, cqv
170 |n which bl

od COrpuscles, the Hiv ndergoes
replication and prodyceg Plogeny virusego
Eosinophils Ty cells
G) B-]ymphoc}'tes (C)) Basophils
Vital capacity of Y8 ve s &
@ (1) IRV + ERV + Ty
(2) Ry + ERv
20, RV + ERy 4y . RV
IRV + ERv + =RV
172 Giveq below are twg statements: )
tement y; 5 Protein js ; agined a5 , lmg
the left end Fepresenteq by firgt N0 agj
(C-term;j al) ang the ight Tepresenteq by
L aming 4044 (N-terminal)
Statement II; Adulg humap h oglobin,
consists of 4 subunits( O subupjt fa type
and twg bunitg of pe
In the light of ¢ tements, hoose the
TTeCt answer r Plions giye below-
(D Statement 1s falg S tement 18 trye.
Both Mment tement are tryg,
3) th stateme 1 lement y ,, false
4) Statementll true Statement is fa)
173 Givep below O sty
€15 labgy d
3 Asser; T A ang the ot labeje
Reagqp R
Assertj, Endometr' :
. 1 S
|mplantat|on f blag Cyst necessary .
Reason g In th :
€ absenge of rtlllzatmn t
Corpyg lut m ¢
: bl egenerates Cause
['Slntegratlon of endometrium
0 the light of the aboye State hooge h
Cor Ct answer f1“2301'1'1 the Optio :\re belo
D aig g but R . =
®but R i
() Both 4
A

39

[RhET STaRafy iz &1 =
. bl ﬁm ¥l
?\';?tmemmwmﬁmﬁﬂ
Eqéaamuﬁf%mm ¥, {2 fog T frswd
Gﬁawmwmﬁl - .
) Amw%ﬂﬁmB@RAaﬁwmqﬂ
'Ré\a‘tm%@ A
(ég :gnaﬁm%‘qﬂkv’*
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174
Select the correct group/set of Australian | 174

Marsupials exhibiti : oy
(;;) Lemur, Anltl:::::f ;C}':lpffwe A wé FgE/de B AT tad
6 Tommtir i, e, Mot | () T e o
. Spotted cuscus, Flying phalanger ) Afsa, drade, Ry
(4~ Mole, Flying s?mrrel, Tasmanian tiger cat (3) =T, AR Y, TST-DheeTt
Match List I with List II. (4) e, B89 fireed, e TET s
List I List IT
A. Heroin I. Effect on 175 g1 % T 11 ¥ ama gafea sU1
s £ cardiovascular sys | 1 |
B Masoass ¢ H. oo bodyyf;f::tion A gg’ﬁ I Saﬁﬁ CER IR i
C. Cocaine | 111. Painkiller
D. Morphine4  IV. Interfere with transport of 2 " B, - AR
dopamine =T ST
Choose the correct answer from the options C. ®ibA (. sEfEs
given below: D. wrH [v, St & aiaes ¥
(1) AL BV, C-, D10 ﬁﬁﬁqmﬁiﬁﬁfﬂf@raﬁwaﬁraﬂﬂaﬁL
) AT, B, G-IV, D10 (1) A-lL BV, C-I, D-II
@) AL BIL CI Y @) Al B, C-IV, D-I
@) AV, Bl C-II, D-1 - y B, A%
(3) A, B, C-II, D-IV
' 176 Match List I with List IL (4) A-IV, B, C-L Dl
List I List II
A. Ringworm L Haemophilus influenzae | 176 T I & @ 1 ¥ @i ghta B
B. Filariasis~_ 1L Trichophyton i 1 w0 I
C. Malaria  HL Wuchereria bancrofti A, Porad L S swgel
D. Pneumonia IV. Plasmodium vivax B AfaR i o
Choose the correct answer from the options ,
given below: C. wmfaEr M. gRRar dmwers
(1) A-IlL, B-I, C-IV, D-1 p. Pt V. @ewifEad aEa
2% A-IlL, B-lI, C-1V, D-1 :h%ﬁqnqﬁam‘fﬁaaawmwﬂn
(3) A-II, B-IL C-L, D-1V (1) A-IL B-IL C-1V, D-1
4) A-I11, B-11, C-I, D-1V 2) A-I1, B-III, C-1v, D-1
(3) A-IL, Bl C-I, D-IV

are two statements:
A-II1L, B-II, C-1, D-1V

177 Given below
tatic precipitator

Statement I: Electros is most 4)

widely used in thermal power plant. 5.
Statement II: Electrostatic precipitator in | 177 @ & AT @ T ® o R
thermal power plant removes ionising radiations - g L Agd argafum ara fega w4 ¥ = ¥
In the light of the above statements, choose the Sy A wr S Eq
r;n:st appropriate answer from the options given e 11: @ Frga e ¥ &g srEats ST
elow:
: . fafpTon @ &I %
(1) Statement 1 incorrect but Statement Il is o ; : xq
correct. sudad wul B TR ¥ S fag g e
(2) Both Statement I and Statement II are ¢ @l gd & |
correct. (1) Fua 1 o & Ao T Il & &
(WBOth Statement I and Statement II are () @it w1 wd 11 & 1
incorrect. : P % |
(4) Statement I s correct but Statement II is (3) i FH I I &S
incorrect. (4) ®w 1T % Afep FEAA Il | ¢l
| 40 [ Contd-
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: is labelled as
i below are statements: on'.j: is
178 i:::r:-tion A and the other is labelled as

178 2 R wow PR ¥

UH AWEEA A ET EEm
RW%‘ TFO, T T u wum TN
%0 % @ﬁg \'GQ;E“: Bt
5 g
rtion A: Nephrons are of two types: Com-_;'.a\ m ¥ s q.( A WET
;ss]euxta medullary, based on their relative ‘m; 1 )
sition in cortex and medulja,
rlfmn R: Juxta medullary nephrons have short
loop of Henle where,

c.

In the light of the above state‘ments: choosel- the':

correct answer from tl}e OpPlions given below-

(1) A is false but g 18 true, . . <

(2) Both A a.nd Rfa;c true and R is the correc

ation of A

3) s;;)trnA and R are trye but R jg NOT the
correct explanation of A,
A is true but B is false.

mn-mwmmmwﬁﬁ%ﬁmmm
as, cortical nephrons have T ¥ s BT
longer loop of Heny,

T FETER = Yy
WYy e %) :

179 Which of the following funct

ions ig carried oyt
by cytoskeleton in a cell?
(1) Transportation
(2) Nuclear division -

EARE Y TR T
R ¥ ?
() i
(3) Protein Synthesis & i .
4) Motility % MO v ‘
. RN
180  Broad palm With single Palm crease is Visible in
a person suffering fropm. DY TR X um ure R ¥ iy T Ty
(1) Thalassemyis Y 7
(2) Down’s Syndrome &mm
() Turner’s Syndrome, 2 .
@ Klinefelter's syndrome ((3) gﬁxm N
18f Given below are two Statements: - ‘@‘f-i e Rw
Statement 1. In Prokaryotes, the Positively N
charged DN A s held wity S0
Chargeq Proteins

me Negatively
" @ region calleq Nucleoiq;

Statemeng II: |

Chargeq DNA

1 e TS Srafw e it
otes, the negative) T EIEERE T o uem
IS Wrapp around the POsitivel LS B ¥, ¥ e —
charged histone Octamer to fopm nucleosome . o R U et s :z@aﬁa’m
In the }ight of the aboy statemcnts, choose the % F“. RN v ¥ ard @i fiae
‘orrect angwer from the Optiong glven below: o el § 4 T
( tement | ncorrect y g tement Yy i & %;mﬁ * e ¥, 4 frg g
; . . %l
&) Both Statemeny | and Statement 1y are - wmﬂl Vi W TS
. true. = 1 1 & I = ]
=
B3) Boty Statement 1 ang Statement 1y are , L
false, '
(4) Statemeng y 1S Correct byg Statement 11 is
false,

% :
i 11 o %
B T T
4 =
\L)

[ Contd-
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182 Match List I with List II.

183

184

185

List I List II
A. P - wave I.  Beginning of systole
B. Q - wave II. Repolarisation .of

ventricles

C. QRS complex III. Depolarisation of atria

D. T - wave IV. Depolarisation of
ventricles

Choose the correct answer from the options

given below:

(1) A-I, B-II, C-III, D-IV
(2) A-IIL, B-I, C-1V, D-II

A-IV, B-III, C-TI, D-I
(4) A-II, B-IV, C-I, D-TII

Which of the following statements is correct?

(1) Algal Bloom decreases fish mortality

(2) Eutrophication refers to increase in
domestic sewage and waste water in lakes.

(3)/ Blomagmf'catmn refers to increase in

concentration of the toxicant at successive

trophic levels.
(4) Presence of large amount of nutrients in

water restricts ‘Algal Bloom’

Given below are two statements:
Statement I: RNA mutates at a faster rate.
Statement II: Viruses having RNA genome and
shorter life span mutate and evolve faster.
In the light of the above statements, choose the
correct answer from the options given below:
(1) Statement I false but Statement 11 is true,
@9 Both Statement I and Statement II are
true.
(3) Both Statement I and Statement II are
o

false.

Statement 1 is true but Statement II is
false.

Which one of the following symbols represents

mating between relatives in human pedigree

analysis?

omee o 1—0O

f;’/EF:O @ I ﬂ
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182w I & @ 1 & @iy gafea &0

183

184

185

4

‘FyA I: aTAT

T I T I
A, P-alm I vgaT & oy
B. Q-awm 0. Fremdi &1 ety
C. QRS @fag L. afeet &1 fagem
D. T-a Iv. freal @ ferggem

9 fag o faeedl A & wh SO & 9E w
(1) A-L, B-II, C-III, D-IV
(2) A-IIL B-I, C-IV, D-II
(3) A-IV, B, C-II, D-I
A-1l, B-IV, C-I, D-III

frer & @ @ @ FUT W &

(1) dar wege wBfml B T ¥ Ve &)
(2) = afed we wd Al ¥ qd T Y g
9% W §

3 e & GeH i T &R UE e

o) wiga ¥ ghe & € ¥
S & BTN =TT F O] BT T A WG
&I st Bl

€)

4

e & waw g @ E
FEga e o€ ¥ Sanafid da

(]
A 1I: mﬁﬁwq&zﬁ%a&aﬂmaﬁﬁw

derr & Sfiatfa wd fwRa B ¥

Swfa @i & v F, T g g e 1
& S & 99T &

8} A I o ¥ afe o 11 5 &

(2) 3 F@ 1 d 1 & &

(3) @ w1 gd 11 o ¥

4) w1 7 ¥ AfeT a0 11 9@ &1

ﬁwmﬁanﬁﬁsﬁwﬁaﬁﬂmmﬁﬁw
a;ahaﬂefraﬁﬁﬁﬁ?raﬂm% ?

O | .‘ @ 1O

4)

® =0

l Co[[fd...



Zoology : Section-B (Q. No. 186 to 200)
186 The parts of human braip that helps

in regulation | 186 g RS B owm R A AT, TASEN =N
/ of sexual behaviour, expression of excitement, et Qs T, = TG B Py T B
pleasure, rage, fear etc, gre - 1) =rde Firew TH Ay
(1) Corpus callosum anq thalamus Q) s wx AT Ty
(2) Limbic system & hypothalamus 3) @ R s Ty
(3) Corpora quadrigeming & hippocampus (4) =R wiy AT =Ry
(4) Brain stem & epithalamys :
BISEI
187 Match List I with Ljge II. 57 b I,;r;ﬁ' WS T n
/ List I List 11 A Wiy % L AT ST
A. Logistic L Unlimiteq resource ' W o WY
growth i availability condition i
B. Exponential /" yp, ;.0 o resource . ; S e
growth © availability condition B. < 15 L. aE -
C. Expanding 1. The percent individuals ' v %
age pyramid of pre-reproductive C. == oy, WM. e gy
age is largest followeq AR B TR
"%~ by reproductive and Fihe A ¥
POst reproductive Ne% ae soEy
age groups T SRR G, =
D. Stable age IV. The percent individuals A ¥\
pyramid o pre-reprodlzllctives D. furg g v TG e e
and reproductive age R amg o ¥ P
group are same Y e
Choose the correct answer from the options T W
given below: = TR ¥\
) AL BV, ¢y, py T R T Rt T TR W ==
«@ AL B, cpp, py ) A, By, C-lI, D
G) AL BIY, DV @) A, B, Cm, py
(4) A"]], B'IV, C'l, D'H] - (3) A'.-na B' s (:-I, D-w
@ AN, By C-, D
18 Which of the following Statements ape
\ ; correc _
A, Ap eXcessive loss of body fluig from i 188 ﬁ:{ﬁq&ﬂ ¥ Y B ¥ ww ¥
. bAo[{)ly SWitches off OSmoreceptorg A i q A = F T qOE
| Pre\.*errfaclﬁ‘lllm-eS Sler reabsorption 1, T Y 4 HT A ¥
i luresig @@wﬂm%mw%wmﬂw
B o °3Ses vasodilatiop T™ T ¥y
. Causes ;
E. is rezs ;“C.TE?SB o Pressure 4 C. s A e @ ¥
' n . -
Choose the ¢q pectm e fo Tease ip GFR D. W o ¥ Tl B B "
given below: answer from the Options E wuy ﬁmm_ﬁ oI % ﬁl‘!;ﬂwﬁ'ﬁ ﬂ' |
(1) C’DandEonl %ﬁqmﬁm_ﬁﬁaﬁam
@ A J (1) %3 C, DU E |
and B only ‘B
2 B, ¢ (), Fww A T
@ A g g O (3) % B,C D
A:BandEomy (4) %a@ A, BT E
d lldl+Eng[ish ]
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189 Select the correct statements with reference to

190

M

192

chordates.
A. Presence of a mid-dorsal, solid and double

nerve cord.

B. Presence of closed circulatory syste,m
C. Presence of paired pharyngeal glllshts

D. Presence of dorsal heart

E. Triploblastic pseudocoelomate am'ma'ls
Choose the correct answer from the opnons
given below: i

(1) C, D and E only _"__j'
(2) A, C and D only )
(3) B and C only
(4) B, D and E only .
Which of the following is characteristic feature
of cockroach regarding sexual dnmorpluSm ?
(1) Presence of anal cerci

(2) Dark brown body colour and anal cercn

£3) Presence of anal styles

(4) Presence of sclerites

Given below are two statements:
Statement I: During G, phase of cell cycle the

cell is metabolically inactive.
Statement II: The centrosome undergoes

duplication during S phase of interphase..
In the light of the above statements, choose the
most appropriate answer from the optlons glven

below:
Statement I is incorrect but Statement 11

is correct.
(2) Both Statement I and Statement II are

correct.
Both Statement I and Statement [l are

(3)
incorrect.
(4) Statement I is correct but Statemelpt II is

incorrect.

Which of the following are NOT under the

control of thyroid hormone?
Maintenance of water and ele;ctrolyte

A,
balance
B. Regulation of basal metabolic rate
C. Normal rhythm of sleep-wake cycle
D. Development of immune system
E. Support the process of R.B.Cs formation

Choose the correct answer from the 'optlons

given below:
(1) Dand Eonly (2) A and D only~
(3) Band Conly (4) C and D only

G6_Hindi+English ]
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189

190

191

192

ﬁﬁz‘f#ﬁaﬁﬁaﬁrmaﬁmmwl

A, AE-gd, J9 ud ded o
B. ﬁaﬂﬁﬁwﬂﬂaﬁmﬁwwqﬁ%
C. wwehr ¥ ghaw wei fE @ suey

D. % &4 @ suRafy

E. Peifts, %z 18 woh

i R 1 frwedt ¥ @ ohm
(1) %= C, D ug E SR =
(2) &aa A, C ug D

(3) ¥aw B ug C

(4) ¥aw B, D ud E

ﬁﬂ#ﬁﬂ?ﬁﬁlﬂﬁ?&aﬁﬁﬁmﬁﬁwm%
wEe & ?

(1) 7T 98 @ suRafy

(2) T g R H AT uE T

(3) =T qF @ sufgfa

(4) w5 @t suRafy

A & Byw g g ¥

%o I: BRI 9% &Y G, STen § Sy e
=g @ fifesg oxf ) '

A 11z AZrEm siqaear &1 S graen ¥ 2 s
2l
Suger Bl & were A, A fw 7 freed # & @
I B 99T HA |

(1) #ua I /g & @feT wa= 11 & #1

(2) < Fga 1 g I &7

(3) @ Fuww I g I o €l

(4) =9 I 9 ¥ afpe wua I @ T

frer & & T eEeies wi % s ¥ T8 §7
W d dga oaugd Wge i g @l

A.

B. arurdg sytged &t & |

C. dR-aTR % 9% & qHrd @l

D. wften @ &1 faed|

E. amtdrd. Prafor 2 whear & Wearted a1

?ﬁﬁﬁquaﬁﬁﬂﬁﬂﬂwmﬂﬂﬂ'

(1) ¥a DWd E  (2) %99 ATd D

(3) ¥ Bug C (4) &aw CTd D
[Contd...



}93

Which one of the following is the sequence on

corresponding coding Strand, if the sequence on

mRNA formed is as follows

5° AUCGAUCGAUCGAUCGAUCG AUCG

AUCG 377

1 3 ATCGATCGATCGATCGATCG
ATCGATCG 5°

Q) 5 UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3°

@ 3 UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 3

4 5 ATCGATCGATCGATCGATCG
ATCGATCG 13°

The unique mammalian characteristics are-

(1) pinna, monocondylic skull and mammary
glands

(2) hairs, ty
glands

¢3Y hairs, pinna and mammary glands .
(4) hairs, pinna and indirect development

Which one of the following is NOT an advantage
of inbreeding?
(1) It decreases the
population, after
(2) It decreases homozygosity.
() It exposes harmful recessjve genes that are
eliminated by selection.
(4) Elimination of less desirable genes and
accumulation of superior genes takes place
due to it.
1967 Which of the following statements are correct ?
A. Basophils are most abundant cells of the
total WBCs :
Basophils secrete hi
heparin
Basophils are involved in in
response

mpanic membrane and mammary

195

productivity of inbred
continuous inbreeding,

stamine, serotonin and

o 0w

flammatory
Basophils have kidney shaped nucleusw

E. Basophils are agranulocytes
Choose the correct answer

from the options
given below;

(1) A and B only (E% and E only
197 Select the correct statements.

3) Cand E only and C only

A. Tetrad formation is seen during Leptotene.

B. During Anaphase, the centromeres split and
chromatids separate. o

C. Terminalization takes place during
Pachytene,

D. Nucleolus, Golgi complex and ER are
reformed during Telophase.

E.

ister
Crossing over takes place bet_weens ;’.r:_?:'a
chromatids of homologous chromo

tions
Choose the correct answer from the op
given below:

(1) B and E only
(3) B and D only

G6_Hindi+English ]

nd C only
((i)) ?\,ac and E only

193 3f% =% 5@ mRNA =1 ®q

194 °

195 Line 3

D R o &
3% AUCGAUCGAUCGAUCGAUCG AUCG
~AUCG 3°, 59 P & T & %A =y
grm? '
'fjjgi) 3’ ATCGATCGATCGATCGATCG
LW ATCGATCG 5°
~(2)
L

5’ UAGCUAGCUAGCUAGCUA
GCUAGC UAGC 3°

13

F

3’ UAGCUAGCUAGCUAGCUA
GCUAGCUAGC 5°

@ s ATCGATCGATCGATCGATCQ
ATCGATCG 3°

Bl Tafarsrand, wwe e o ¥

M(2) Aw, Bt qew el T @ i

CB) W, wofuea we w= it ;

@) T, svivewa T stgam areats

¥ B ST B AW T B ?

TR SAUSH % 90 e ST T oy
JHEHAT B HLET )
(2) T® wwgmar ® wy

k1)
HIA )

L) TS IO B ey

e

A B e wg
5 %m%wﬂwm%i
196-“"1’-“|r=:ﬁ@c‘c€|=r%aau=rv€t%?
Tl . IV SN N T s i
k,..,v.,,'.- '|
B. Jaifew e, friene s AR @\
cye TR ¥)

ARG shereTd wRiBrmel & afafa o ¥
s i SRR ¥ gam ¥ e & Hww o T

VB Iefee smermim B E b

c'__mﬁgquqmﬁ@@wﬁﬂ?;

() ¥wATEB () FWODWE

() W CHE  (4) ¥

197 Pgé wasft w1 w9 FA

45

¢ @ Zar 8! g &t

e ﬁqﬁwaavzs;; P
a‘; qygTerRAr ﬁmﬁa%c >
f.'__‘;'" mﬁ aaideET Erar 31' i gt
G- m‘f@"‘ aifestTa T €T e
| J1F 3 .,. ‘nﬁ'
I‘IE Grr?r_%l gﬁﬁﬁuﬂ?ﬁ ﬁﬂaw"w
g % A IVE gt L O
e g ST o) O ontd
t ¥aw BT 5 @

m waw B
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198

199

200

G6_

n cockroach, excretion is b
:;_ Phallic gland  B. N B’;ﬁf’: :: a;l'::; by-
c. Nephrocytes D.. Fit body :
g. Collaterial glands
;:ggsge;:izcor rect answer from the options
P (1) B and D only

(2y A and E only

(3) A, B and E only

(4) B, C and D only

Match List I with List II.

List I List II

A. Mast cells I.  Ciliated epithelium

B. Inner surface II. Areolar
of bronchiole connective tissue

C. Blood . L Cuboidal epithelium

D. Tubular parts IV, specialised
of nephron connective tissue

Choose the correct answer from the options give

below:

(1) A-IIL B-IV, C-II, D-1

@) A-l B, C-IV, D-111

(3) A-II, B-1II, C-I, D-IV .

(4) A-I, B-I, C-IV, D-III

Which of the following statements are correct

regarding skeletal muscle?

A. Muscle bundles are held together by
collagenous connective tissue layer called
fascicle.

B. Sarcoplasmic reticulum of muscle fibre is
a store house of calcium ions.

C. Striated appearance of skeletal muscle fibre
is due to distribution pattern: of actin and
myosin proteins.

D. M line is considered as functional unit of
contraction called sarcomere.

Chc.)ose the most appropriate answer from the

options given below:

(1) C and D only

(2) A, B and C only

(3) B and C only

(4) A, Cand D only

46
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& F B 3
B. g iy

D. = ff=

fyerace § SwwA
A. fws diy
C. “wmEEed
E. sowe dfadl
ﬁﬁquﬁﬁﬂﬁﬂﬁ?mmml
(1) ¥Fa@a BTa D

(2) %aa ATIE

(3) %aw A, BTIE

(4) ¥aw B,Cw D i

g I & g 1 & a1y gafea &
@I T 10

A TR FREE I gEm syw

B. saafvar @ . Eer gas
Fiai® qae ISP

C. T II. g9THT I9HaA

D. g@ma & IV. fafire damit %
AferepTeIT AT

$3 fm g e ¥ § W I B 99T &
(1) AL BV, CILDI

@) A, B C-IV, DIl

(3) A-L BHIL C-I, D-IV

(4) AL B-L C-IV, D-II

mﬁﬁ%ﬁwﬁﬁa#wmﬁr%’?

A. ﬁaﬁdﬁﬁﬁﬁffdﬁvﬁmaﬁm@rsﬁ
éﬂ%ﬁﬁwm%l

B. ﬁaﬁﬁgwmﬁﬁmﬂmwm
#1 WS TE T

C. Waaﬁﬁmmwww
q‘:ﬁ%ﬁaﬂuﬁiﬂaﬁwﬂ?ﬁ%!

D. @mﬁﬁgﬁaﬁﬁlﬂfﬂﬁsﬁgww
5 P qriRET FEd ¢

ﬂaﬁqmﬁmﬁﬁmaﬁammwm

(1) @#aw CT@D

@) Had A, BT C

(3) #m BwC

4) Faad A, CT@ D
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